| M A\ | Steel Management

LMA Steel management FZE - LLC
Free zone establishment FZE

A1-3038, Building Al, Al Hamra Industrial Zone A1-3038,
RAK, United Arab Emirates

E-Mail
sale@Imasteel.com

Web
www.Ilmasteel.com



Arplus ; LGARY STATIC STUDIO

laboratories f tested




[y ————

“ FRAMELESS
= GLASS RAILING

POST
RAILING

GLASS
CLAMPS

98



308

RS,
ESORIES

4 COMPONENTS

©

GLASS
SYSTEMS

S




e







7))
o
o
0
38
o<

1




1 _4 HANDRAILS


Lukaš Oravec�





U PROFILE AL/0002
TOP MOUNT AL/0004
FIX AL/0008
U PROFILE AL/0012
TOP MOUNT AL/0014
FLEX; LED AL/0016
e aooos
FIX AL/0010

AL/0003
U PROFILE AL/0005
SIDE MOUNT AL/0007
FE& AL/0009
Y PROFILE AL/0011
SIDE MOUNT AL/0013
FIX AL/0015



10

AL/..-Drain

AN
AL/..-OUT

e e S
e s i
g -

N\

‘_\D\ AL/...-Drain

N\
\

N\
VSG/ESG
GS/16.76...

X
AL/003...

N VSG/ESG

GS/16.76...

__AL/004...
AL/...-Drain



ass t S A -l
Material Finish Effec art. L G/h ’Slis 5 ka/m /TN (=)=
2-25,52 A
AL/0004-1250-S-E 1250 5
ELOX AL/0004-2500-S-E 2500 Q
78]
AL/0004-5000-S-E 5000 M 5
AL/0004-1250-S-VA 1250 122152 T
ThN  e— 8 Q
INOX AL/0004-2500-S-VA 2500 E
AL/0004-5000-S-VA 5000 é
AL/0004-2500-N-B 2500
AL/0004-5000-N-B 5000
AL/0008-2500-S-E 2500 21,52-25,52 new
3kN - 76
ELOX AL/0008-5000-S-E 5000
AL/0002-6000-S-E 1
86606, i 2,76-21,52 5
AL/0002-6000-S-VA
INOX +
AL/0012-2500-S-VA 2500 1kN | 17.522152 g7
AL/0014-3000-S-E 3000
1kN 17,52 3.9
AL/0014-8000-S-E 6000 v
ELOX - : v
AL/0016-3000-S-E 3000
2kN 4.8
AL/0016-6000-S-E 6000
glass
Material Finish Effect art L G/h kg/m
12-25,52
AL/0006-1250-S-E 1250
12-21,52
AL/00086-2500-S-E 2500 1kN ee— 7.6 MNew
ELOX
AL/0008-5000-S-E 5000 M
AL/0010-6000-S-E 12,76-21,52
6000 3kN & —o— 10,5
INOX AL/0010-6000-S-VA

) ) glasst
Material Finish Effact art. L G/h kg/m
12-25,52
AL/0005-1250-S-E 1250
AL/0005-2500-5-E 2500 Top
. 12-21,52
AL/0005-5000-S-E 5000 1TkN ee— 6,4
AL/0005-D-2500-S-E 2500 Mnew
ELOX : =
= AL/0005-D-5000-S-E 5000
AL/0009-2500-S-E 2500 21.52.95 52
3kN ’ ‘w— 7.6
AL/0009-5000-S-E 5000
AL/0003-6000-S-E
1kN 3.9
INOX AL/0003-6000-S-VA 12,76-21,52
6000 | —
ELOX AL/0007-6000-S-E
3kN 4.8
INOX AL/0007-6000-S-VA
glas=t
Material Finish Effect art. L G/h ka/m
12-25,52
AL/0011-1250-N-E 1250
12-21,52
ELOX AL/0011-2500-N-E 2500 1kN 7.9
AL/0011-5000-N-E 5000 Top
_ o glasst
Matarial Finish Effect art. L G/h 12.25.52 kg/m
PAFAS R ¥4
AL/0013-6000-N-E 1kN
12,76-21,52
ELOX 6000 — 13,6
AL/0015-86000-N-E 3kN new

11



.

STATIC STUDIO

IKA[ |[ES :
én @

@14

V22277 7R 7777777 7777 7 A 777777
L1 4 200

* »

S . B

AL/0004-1250-S-E 1250

ELOX AL/0004-2500-S-E 2500 50 AL e
AL/0034...
e AL/0004-5000-S-E 5000 100 e /008
ALUMINIUM SO 1250 KN 12,002152 A19/0004-. "/1734- )

INOX AL/0004-2500-S-VA 2500 50 -
AL/0004-5000-S-VA 5000 100

- AL/0004-2500-N-B 2500 50
natural
' AL/0004-5000-N-B 5000 100

glass t
By

STATIC STUDIO

] | U | —u
AL/0008-2500-S-E 2500 50

ALUMINIUM  satin  ELOX 3kN  21,52-25,52 A19/0004-... AL/0038... - -
AL/0008-5000-S-E 5000 100

glass t
e

aboratories

L Arplus®

1245

D 1
ELOX AL/0002-6000-S-E

ALUMINIUM ~ satin 6000 75 1kN 12,76-21,52 AL/0002-... AL/0032... - AL/0002.. Drain
INOX AL/0002-6000-S-VA
12

new
Mew



120

ALUMINIUM  satin

A19/0012-018-02.5
A19/0012-022-02.5

17,52
21,52

IEEET -atin  A19/0012-pin

INOX AL/0012-2500-S-VA 2500

new
new

30

(] -

1kN  17,52-21,52 A19/0012... AL/0034-012-S-VA

Black Black
“ FD(‘SET I
AL/0012-2500-S-VA
A19/0012-pin...
new

13



2

AL/0014-3000-S-E 3000
AL/0014-6000-S-E 6000
AL/0016-3000-S-E 3000
AL/0016-6000-S-E 6000

UM satin  ELOX

+2.7°

3000 | A19/0014-018-03.0 Av/

17,52

6000 A19/0014-018-06.0 Fa@il/

14

7] i
Z A - 17 Z Z T - T
L1 ) 250 K
]
125  1kN
17,52  A19/0014-018 AL/0034-014-S-E
125  2kN

0 = =

$14

Black / Transparent

Satin - ELOX

7pcs/3m
13pcs/6m
White Transparent




45
glass t

LGAR

tested

| STATIC STUDIO

1205

L1 J 200 !

' S R
¥ AL/0006-1250-S-E

1250
ALUMINIUM satin  ELOX AL/O006-2500-S-E 2500 50 1kN  12,00-21,52 A19/0004-... ’f‘Ab/ggg“E;--' Aﬁ%ggge--(-)'[“n s =
AL/0006-5000-S-E 5000 100 Top
ALUMINIUM satin ELOX AL/OOO6-ATYP ra. Y4B
46
glass t
= Arplus®
Fenboratories
3 L \
— & g '.
ll
|
N ;I
wn
N N [
N '.
N \
N \
.\{ Lo 214 4 |
SINNN\iNC 777777 i 77 T 7
« 70 x L1 250
< 91 >
SN T
)
\ , . ELOX AL/0010-6000-S-E AL/0038-... [ ew
ALUMINIUM  satin 6000 125  3kN 12,76-21,52 A19/0002-... z 2 0049...
) INOX AL/0010-6000-5-VA i AL/0039-... M ew

15



glass t
 daait

.

& L
5 ’/".;
2 k L1 @ 250
2
|
8 F—
,v_/’
Z o
A 2
7
AL/0005-1250-S-E 1250
ALUMINIUM satin ELOX AL/0005-2500-S-E 2500 125 1kN
AL/0005-5000-S-E 5000
glasst
2 L
L L1 % 250
: @
& F CS
"l e,
Al
i=]
o

AL/0005-D-2500-S-E 2500

ALUMINIUM zatin
: AL/0005-D-5000-S-E 5000

ELOX

glass t
R

N L L1 : 150

AL/0009-2500-S-E
AL/0009-5000-S-E

2500 50
5000 100

ALUMINIUM  satin

16

ELOX

3kN

125 1kN 12,00- 21,52 A19/0004-..

LGAD

tested

STATIC STUDIO

IKA| [ES :
é- @

x| | D

T = |

AL/0035... AL/0005...IN A/6920-005
12,0021,52 A19/0004-.. w0034 AL/000S.. OUT A24/0005-007
{of~
LGAR
tested
1
. STATIC STUDIO
l|
A |
AN
1/ |.
\'l
]
o] ) U -1 i L.
AL/0034-005-D... AL/0005-D..IN AL/0005.. AL/0044.. e

* AL/0035-005-D... AL/0005-D..OUT  Drain

A24/0005... se

STATIC STUDIO

o U

A19/0004-...

M — |

AL/0038-004-S-E - 5

21,52-
25,52

A24/0005-007



AFFl)aIbl(')Irﬁories ﬂ

glass t
» L
N
N B L 2 .
N \
LI ‘&
3 N
1T Bl T
1§' N -
N | N
N ~c < i~
N
LRSS\
< 48 »
o D 1 w—u L
=
ELOX AL/0003-6000-S-E -0 e hew
1 ...uran
- . INOX AL/0003-6000-S-VA AL/0032-... Aew
ALUMINIUM  satin 6000 12,76-21,52 A19/0002... AL/0043... o
ELOX Saey = 75 150 3kN AL/0033: AL/0007.. Drain
INOX AL/0007-6000-S-VA hew
48
glass t

tested

STATIC STUDIO

120
)

777777777
200 J

95

L1 200

Wz
50
X

!
[

e

AL/0011-1250N-E 1250
ALUMINUM || ELOX AL/OO11-2500-N-E 2500 S0 1kN  12:2152 A19/0004. AL/0034-. x0200M (R AL/0041... Lo~
AL/0O011-5000-NE 5000 100

= Applus®

L laboratories

2
g < L1 e L2 5
m‘l!r ) U 1 . . l_
‘AUMNIUM MRS ELox AL/OO13-6000-NE .., 150 300 1kN ., ..., 55 At9/0002 AL/OUIS.. .Oih_5nc |4
AL/0015-6000-N-E 100 200 3kN o fOEL AL/0015-..._Drain | pnew

17



|

0 R
2 S
I <
g &x = -
ro N\ L
l ELOX AL/0004-S-E-Drain AL/0004-1250... 4 nen
ALUMINIUM  satin AL/0004-2500... 7
INOX AL/0004-S-VA-Drain AL/0004-5000... 13 | e
'5"-_" ;.—;l:l'\p‘ﬁ
Gl I 2 C 2
- 4 -
ELOX AL/0002-S-E-6000-Drain
'ALUMINIUM  satin . 6000 AL/0002.. e
INOX AL/0002-S-VA-6000-Drain
137 14,4
S
N o
o
o
¥ ———
b 482 ) le 49 |
AL/0041... AL/0045...
r
|
l%i‘i
I
ELOX AL/0041-2500-S-E 2500
AL/0041-5000-S-E 5000
BETRIRRTRIES o (o) /\L/0041:2500SVA 2500 AL/0011
[ AL/0041-5000-S-VA 5000
AL/0045-2500-S-E 2500 Mnew
ELOX
AL/0045-5000-S-E = 5000 new

18

AL/0004-...

AL/0004-...Drain”




ALUMINIUM  catin

PVC gray A24/0005-007

T
¥

122,4

47

m satin  A/6920-005

ELOX AL/0005-S-E-2500-Drain

2500 AL/0005-D... fAeM/

H

L

AL/0005...
AL/0009...

AL/0005-D...

Q9/03-0,2x9 | L

A/6920-005

W

2500 AL/0005...

v

Q9/03-0.2x9

AL/0005-..Drain’

Yo
e

122

AL/0044-2500-S-E
ELOX
AL/0044-5000-S-E

satin

ALUMINIUM
AL/0044-2500-N-B
black
AL/0044-5000-N-B

2500
5000
2500
5000

AL/0005-D...

11



20

ALUMINIUM satin

ALUMINIUM  satin

ELOX
INOX
ELOX
INOX

ELOX
INOX
ELOX
INOX

AL/0003-S-E-6000-Drain
AL/0003-S-VA-6000-Drain
AL/0007-S-E-6000-Drain
AL/0007-S-VA-6000-Drain

6000

1288

V ——
47,4

K >

AL/0043-S-...

AL/0043-S-E

AL/0043-S-VA 00 AL/0003...
AL/0043-D-S-E AL/0007...

AL/0043-D-S-VA

AL/0003...

AL/0007...

new
new
ew
hew
new
L, mew
hew
ew



ALUMINIUM  satin

1AL!MNIUM satin

ELOX AL/0013-N-E-6000-Drain
ELOX AL/0015-N-E-6000-Drain

I~
Y

3
~
L SN
k48

AL/0042-6000-S-...

ELOX AL/0042-6000-S-E
INOX AL/0042-6000-S-VA
ELOX AL/0042-6000-D-S-E
INOX AL/0042-6000-D-S-VA

ELOX AL/0049-S-E
INOX AL/0049-S-VA

AL/0013...
AL/0015...

AL/0013...
6000 %0015,

[
Ll

6000 AL/0010...

new
new

41

WA

AL/0010

AL/0049

21



o
g
7
4
[
¢
2

22

Material Finish Effect art. M
ELOX AL/0034-004-S-E
INOX  AL/0034-004-S-VA  AL/0004..
black  AL/0034-004-SEB hew
ELOX AL/0038-004-S-E AL/0008... |feW
ELOX AL/0032004-SE 0005 new
INOX ~ AL/0032-004-5-VA T | hew
AL/0034...
AL/0032...
Material Finish Effect art.
AL/0035-005-S-E
i AL/000S...
ELOX AL/0034-005-SE
AL/0034-005-D-SE AL/000SD... Frei
ELOX AL/0038-004-S-E  AL/0009.. e
Lox AL/0033-005-SE new
AL/0032-005-S-E  AL/0003.. e
AL/0033-005-S-VA  AL/0007.. e/
INOX
|AL/0032-005-S-VA hew
\
\
Material  Finich Effect art.
ELOX AL/0034-011-S-E AL/00011...

Finish Effect

Matenal

ELOX

INOX

ELOX

INOX

Material Finish Effect
ELOX
ELOX

INOX

| ew

 AL/1334-004-S-E-Right

| AL/1734-004-S-E-Right

AL/1334-004-SE-Left

; 12,76
AL/1334-004-S-VA-Left |
AL/1334-004-S-VA-Right
AL/1734-004-S-E-Left

16,76
AL/1734-004-S-VA-Left

' AL/1734-004-S-VA-Right

AL/0034-006-S-E
AL/0035-006-S-E
AL/0039-006-S-E
AL/0038-006-S-E
AL/0039-006-5-VA
AL/0038-006-5-VA

AL/0010...

AL/0006...

AL/0004...

8

left

¢



Material Finish Effect

INOX
black

ELOX

~ ELOX

cErhect

art

AL/0004-S-E-90-IN
AL/0004-S-VA-90-IN 218
AL/0004-N-B-90-IN
AL/0O004-IN-ATYP ]
AL/0005-S-E-90-IN 66
AL/0005-D-S-E-90-IN
AL/O0O5-IN-ATYP |
220
art. L
194

ELOX AL/0011-N-E-90-IN

art L
AL/0004-S-E-90-0UT
AL/0004-S-VA-90-OUT 218
AL/0004-N-B-90-OUT
AL/0004-OUT-ATYP

AL/0005-S-E-90-O0UT

268

AL/0005-D-S-E-90-0UT  ~ dveW
AL/0005-OUT-ATYP _
ELOX AL/0006-S-E-90-OUT 260
Effect art. L
ELOX AL/0011-N-E-90-OUT 242

23



24

Glass t

(mm)

12,76

16,76

17,52

20,76

21,52

Glasst
(mm)

21,52

25,52

Glasst
(mm)

12,76

16,76

17,52

20,76

21,52

L
(m)

2,5

25

2,5

25

2,5

25

2,5

25

25

25

25

25

(m)

25

25

2,5

25

(m)

FIX-SET
(pack)

A19/0004-012-02.5
A19/0004-012-05.0
A19/0004-012-25.0
A19/0004-013-02.5
A19/0004-013-05.0
A19/0004-013-25.0
A19/0004-017-02.5
A19/0004-017-05.0
A19/0004-017-25.0
A19/0004-018-02.5
A19/0004-018-05.0
A19/0004-018-25.0
A19/0004-021-02.5
A19/0004-021-05.0
A19/0004-021-25.0
A19/0004-022-02.5
A19/0004-022-05.0

A19/0004-022-25.0

FIX-SET
(pack)

A19/0004-012-02.5
A19/0004-012-05.0
A19/0004-012-25.0
A19/0004-017-02.5
A19/0004-017-05.0
A19/0004-017-25.0

FIX-SET
(pack)

A19/0002-013
A19/0002-017
A19/0002-018
A19/0002-021

A19/0002-022

(black)

A19/0004-rubber F-... +

AL/0004-...

A19/0004-rubber F-... +

AL/0008-...

A19/0002-rubber F-... +

AL/0002-...

B C D
Wy,
Y
iy,
B
b\.“.
TR
(4pcs/m) (4pcs/m)
(gray) (gray) (black)
A19/0004-L + A19/0004-plast... +  A19/0004-rubber...
Profile types
[ |
| |
|7 ,‘ | ||
AL/0005-... AL/0006-... AL/0611-
A19/0004-L + A19/0004-plast... +  A19/0004-rubber...
AL/0009-...
A19/0002-L + A19/0002-plast.. + A19/0002-rubber...
\7 ‘W e “'v
1 ||
‘, 1 [ |
LI [ |
AL/0003-... AL/0010-... AL/0013-...
AL/0015-...



A19/0004-F-G-02.5 2,5

Rubber gray A19/0004-F-G-05.0 5

A19/0004-F-G-25.0 25

Interiér/Interior

7

black A19/0004-D-B
PVC 100
gray A19/0004-D-G

12-21,52

12,00-
21,52

AL/0004
AL/0005
AL/0006
AL/0008
AL/0009
AL/0011

AL/0004. ..
AL/0005...
AL/0006...
Al/0008...
AL/0009...
AL/0011...

VSG

GS/16,76-120x110-VSG-black

new

new

|

Interiér/Interior

A19/0004-17-18-G-02.5 2,5
A€W Rubber gray A19/0004-17-18-G-05.0 5

A19/0004-17-18-G-25.0 25

16,76-17,52

GS/16,76-100x40-VSG/ESG
GS/16,76-100x50-VSG/ESG
GS/16,76-100x60-VSG/ESG
GS/16,76-100x70-VSG/ESG
GS/16,76-100x80-VSG/ESG
GS/16,76-100x90-VSG/ESG
GS/16,76-100x95-VSG/ESG
GS/16,76-100x100-VSG/ESG
GS/16,76-120x40-VSG/ESG
GS/16,76-120x50-VSG/ESG
GS/16,76-120x60-VSG/ESG
GS/16,76-120x70-VSG/ESG
GS/16,76-120x80-VSG/ESG
GS/16,76-120x90-VSG/ESG
GS/16,76-120x95-VSG/ESG
GS/16,76-120x100-VSG/ESG
GS/16,76-120x110-VSG/ESG

GS/16,76-120x110-VSG

GS/16,76-120x110-VSG-orange

GS/16,76-120x110-VSG-grey

16,76

16,76

16,76

1000

1200

1200

AL/0004
AL/0005
AL/0006
AL/0008
AL/0009
AL/0011

400
500
600
700
800
900
950
1000
400
500
600
700
800
900
950

1000

3

100 | eW

1100

25



26

art
AL/glass-mont

AL/0002-...

AL/0004-...
AL/0008-...

AL/0012-...

AL/0014-...
AL/0016-...

AL/0005-...

AL/00089-...

AL/0003-...
AL/0007-...

AL/0006-...

AL/0010-...

AL/0011-...

AL/0013-...
AL/0015-...

1250
2500
5000
2500
3000
6000
1250
2500
5000
2500
5000
6000
6000

2500

5000

6000

1250
2500
5000
6000
6000

I

Q5/08-FH12-50
Q5/08-FH12-50-B
A14/08-FH12-50

40x
7x
13x

25x

Sx
10x
20x
17x
33x
24x

40x

-
-

Q5/06-12x118CE

13x
12x
24x

13x

25x

24x

7
13x
25x
20x
30x

A5/08-105x11xM8

40x
7x
13x

25x

Sx
10x
20x
17x
33x
24x
40x

Q5/01TK-300

1x
1x
2x

1x
1x
2x
2x
3x
2x

3x




AL/ZALVR100-2500-004 1000 2500 16,76 VSG/ESG FvEM/ d AL/ZALBR100-2500-005 1000 2500 16,76 VSG/ESG e/

u
M___‘ AL/ZALVR100-2500-006 1000 2500 16,76 VSG/ESG FveW u AL/ZALBR100-2500-011 1000 2500 16,76 VSG/ESG e/

2T



28

AL/0004-...

AL/00OS-...

AL/0002-...

AL/O00Q6-...

AL/0O10-...

1250

2500

5000

2500

5000

6000

1250

2500

5000

6000

L1

25

50

100

50

100

75

25

50

100

125

200

150

200

250

125

50

125

50

250



— —

AL/0005-...

AL/0003-...

AL/000O-...

AL/O0O7-...

AL/OO11-...

AL/00O13-...

AL/0O15-...

1250
2500
5000
6000
2500
5000
6000
1250
2500
5000
6000

6000

125

75

25

100

150

100

250

150

200

300

200

L3

125

50

125

50

125

50

L4

250

250

29

4
5
3




1.2 ¢

—

TN
=

e

ERS )




FLEX MOUNT

FIX MOUNT

SQARE MODELS

DOUBLE ADAPTERS

DOUBLE ADAPTERS




o>
; ,L_h
42 f— L — Zz/, 8-18
. % S 1
L a3 2 51 //,
‘ s 1 3| S
A P {1z
, s 1 C///, J
. // LAt
%" ! ) ///// /,/ J_
k¢ 29 ///,/ 12,
% g ..JL’SS' A/O747-FLEX1-B
A/O746-FLEX1 30 M8x40 612,76 13 15
" . A/0742-FLEX1 40 M10x45 18 20
AlSI304 B IV A TS S . rig Mioxizo E17:52 195 23
A/O747-FLEX1-B x 17 20 Hew
<~
) ) h Glass t
RN - f
, ) gu
1 Cige g A
b3 Jd—— — S —— | R '—U o
. /1 ,
5, ’ . s a | N ‘
AISI304 A/O747-FLEX2 Top
satin flat 50 3555 M10x125 817,52 17 20
AISI316 A14/0747-FLEX2 new
,E 7 h __Closst o
i 2
aner (WL = .
R (Ails=— 'R (
INSEGPY  satin @ flat A/0747-501 FLEX2 50 4048 M10x40 817,52 25 30 Top
<~
h ) Class t 54
P v
N — [l : |
k&‘, i —lt o e @) )] 4
A/0742-FLEX3
h Glass t 21
1T,
o s
== L)
il 9o @©MNE
| i
A/0747-FLEX3
A/0742-FLEX3 40 18,5 22 Hew
AISI304 TN 40-48 M10x40 817,52
A/O747-FLEX3 50 25 30 W




FIX

. lh Claoss t

A/0742-000 40 M10x100 18,5
A/0747-000-S 50 M8x45 g 17,52
A/0747-000 50 M10x45 Lo
g A/0749-000 60 ., MIOX100 82152 185 55
A/0748-000 70
A/0747-000-L
; M10x45 817,52 17
AISI316 A14/0747-000 50
ZAMAK | 2ZN/0747-000
h | Class t
t - 0. e

A/0746-000 15 M8x40
A/0746-000-B 17 M8x40
A/0746-300 30 30 M8x80 6-12,76 13 15
: A/0746-400 40  M8x80
satin A/0746-500 50  M8x90
o A/O747-300 30  M10x70
A/0747-400 50 40 M10x90 817,52 18 20
A/0747-500 50  M10x90
polish A/0746-000-L 15 M8x40
- 30 612,76 13 15
I A14/0746-000 15 M8x40
A14/0747-300 50 30 M10x70 817,52 18 20
ZAMAK 2ZN/0746-000 30 15  M8x40 6-12,76 13 15

h Glass t

- ———

|
gl
/

A/0763-000 30 6-12,76
A/0764-000 40 8-17,52

flat 10 M10x50 13 18
A14/0763-000 30 6-12,76

AlSI316

A14/0764-000 40 8-17,52




FIX

h o~ Glasst

=
I N
' SN
NN
33.7 A/0746-033 13 M8x50
30 6-12,76 13 15
A/0746-042 15 M8x40
o A/0749-042 60 10 M10x125 8-17,52 18,5 20
: A/0748-242 70 10 M10x80 8-17,52 17 20
AISI316 A14/0746-042 30 15 M8x40 6-12,76 13 15
& [0 4
%
Vi f
T
=
A/0742-042 40 M8x40 18.5
AISI304 .
satin @ 424 A/0747-242 10 8-17,52 20
50 M10x40 17

AISI316 A14/0747-242




FIX

EEEZ]  satin

A/0745-300
A/0745-500

A/0745-D30

PVC Black

RGM3210
RGM4210

- Glasst

——

=|
1
1
30
40 5 M10x100 817,52 16 18
)
b
1
0
[}
i
s o
L]
1
——b_
32 o 25 Mnew
42 35 e

A/0745-D30

A/0746-...

RGM3210
A/0745-...

35



36

INGEGYS  =atin = A/0746-plate e

w [

-

P 48,7

MI10

®50

INEIELYS satin @~ A/0747-plate A%

AISI304 REF T

AISI304

A/0746-front

A/0747-front
A/0747-S-front

19
11

@14
M

%50

A/0747-plate
A/0747-front

A-DIN 913-...

A-DIN 7991-A2 M6x8

A/0747-plate

A19/47-...

A/1800-...

A/0131-M6é




black A19/46-Black black A19/47-Black

bbe: new
B white  A19/46-White Aaes: new white  A19/47-White e dilolon

8

A-DIN 913-A2 M8x22 22 MOl ~ A-DIN 9210 M8x60-A2 8 60 20 37 e
- aw
A-DIN 913-A2 M8x80 g 80 MEW & = ADIN9210M10x100-A2 10 100 30 57 A&/
AlSI304
A-DIN 913-A2 M10x35 e 35 |Pew
A-DIN 913-A2 M10x100 100 AW

e —  ©
!

1
AISI304 2 A19/model741-8 AISI304 B £\ 19/27-M8 5 L 140 15
A19/27-M10 10 13

s

GS/16,76-130x100-VSG/ESG 1300 4x20 75 75 Mew

| GS/16,76-98x100-VSG/ESG 980 1000 16,76 | W
4x25 92,5 925

GS/16,76-133x100-VSG/ESG 1335 Mew

37



8-17,52

| _.,—_..ﬂé‘
5

enul

&
200
150

0.,
EEERE] =atin | A/2740-000 GS/16,76-13...
0 8-17.52_
1 THI 2.
Sy
g11]| ol
o | 8§
! L]
101
20| |
EEEZ] =atin | A/2747-000 GS/16,76-13...
D 10
al il
@11
RERE 2
M
Q)‘ | ]
. A/2746-000plate T1Omm 40 190
30 p/2747-000 plate TIOMm 50 200 813,52
I | wn
B

142
89
50

11931

30,5

M satin  A14/3000-000

38




art. h L glass t

h L glass t

s GS/FRB6-130x100-16,76-747 1000 1000 16,76 VSG/ESG FAeW/

GS/FRB6-130x100-16,7-2747 1000 1000 16,76 VSG/ESG FAeM/

ant. h L glass t

GS/FRB6-130x100-16,7-2740 1000 1000 16,76 VSG/ESG M

39

| a k L glass
ﬁ GS/FRB6-130x100-16,76-745 1000 1000 16,76 VSG/ESG e




1 _3 SPIGOTS




FLEX MODELS

FIXMODELS

SQARE MODELS

ROUND MODELS

POSTS



STATIC STUDIO

GLASS t

BLACK _

RUBBER

new

12-17.52

1kN

PASEIEE  satin@ A14/6210-000

STATIC STUDIO

f////////

GLASS t

, //._//////////__,,////

98,5

tofr

RUBBER
BLACK

12-17,52

1kN

A/6200-000-C
A14/6200-000-C

satin

AISI304
AISI316

A22/6200-000-C

S.5.2205

STATIC STUDIO

GLASS t

z8l

RUBBER
BLACK

A/6100-000-B

12-17,52

1kN

A14/6100-000-B

AISI304
‘satin
AlSI316

42



AISI304

AISI304

AISI316

A/6200-000-B

A/6200-000-B

satin tin %]
A/6100-000

A/4511-050
A14/4511-050

20
22

GLASS t

:

AN

RN

bxa |
-
D
A/6100-000
186 81 66 100x100 40 35 12 4x11 1kN
12-17,52
162 61 65 100 49 49 12 3x9
052,5
|
z |
0105
A/6200-000-C AISI304 | A/0512-050
A14/6200-000-C 8 |
A22/6200-000-C AISIZ16 | A14/0512-050

15

09/03-0,2x9
Q9/03-3x12
new
new
@50
TR
B ' B
L @103 |
A/6100-...
A14/6100-.. e

43



art h L glass t art h L glasst ‘

A i
GS/FRB-103x120-6200 1030 1200 16,76 VSG/ESG e < GS/FRB-103x120-6100 1030 1200 16.76 VSG/ESG ‘m

a 3 b
GS/16,76-100x40-VSG/ESG 400
GS/16,76-100x50-VSG/ESG 500
GS/16,76-100x60-VSG/ESG 600
GS/16,76-100x70-VSG/ESG 700

16,76 1000
GS/16,76-100x80-VSG/ESG 800
GS/16,76-100x90-VSG/ESG 900
GS/16,76-100x95-VSG/ESG 950
GS/16,76-100x100-VSG/ESG 1000
VGS/16,7G-120x40-VSG/ESG 400
GS/16,76-120x50-VSG/ESG 500
GS/16,76-120x60-VSG/ESG 600
GS/16,76-120x70-VSG/ESG 700
GS/16,76-120x80-VSG/ESG 16,76 1200 800
GS/16,76-120x90-VSG/ESG 900
GS/16,76-120x95-VSG/ESG 950
GS/16,76-120x100-VSG/ESG 1000
GS/16.76-120x110-VSG/ESG 1100 | e
GS/16,76-120x110-VSG
GS/16,76-120x110-VSG-orange

16,76 1200 1100
GS/16,76-120x110-VSG-grey
GS/16,76-120x110-VSG-black

44



325

L

‘ () ]‘05

INSEICN =atin A14/6300-000 GS/16,76-98x100-VSG/ESG @il

8-17.52
140

8-17,52
040 g
O

150

325
325

®»15
135

)
135

o9 - T

m ~zatin  A/6400-040 GS/16,76-98x100-VSG/ESG @il w zatin  A/6400-040-plate GS/16,76-...

1000

980

SC GS/16,76-98x100-VSG/ESG 16,76 W

45






@42
D 48
@ 25,4

80x40

40x40
60x40
25,4x21

18x12
22x9

22x16
26x20
28x26




48

1.8
.
' | 37
[
A
24

D23
A/6920-042 5000 Tog
A/6925-042-1250 1230
A/0923-042 2500
A14/6920-042 5000
A14/6920-042-L 5000
-3

‘..

|@ a2,4x1,5

v

AISI304 A/6732-042 Tog

2atin
AISI310 A14/0732-042

AISI304 A/6313-042
AISI310 A14/6313-042

419/5042-008 2500
A19/5042-208 80110 5 o0
A19/5042-011 SgiEs  as 200
oack A19/3042211 e S 5000
Rubber black . 19/5042-016 2500
T
A19/5042-216 16,0475 5000
A19/5042-022 2500
20,0215 4,2
A19/5042-222 5000
Riner A19/5042-G-016
- - ra
interier 9% 449/5042G-216 18077 sooo0 ew
-6‘
}4
|
@ |@a2,4x1,5

Q
m
wn

AISI304 A/6503-042 20

eatin
AISI3T0 A14/63503-042 85

| @a2,4x1,5

AISI304 A/0303-042 e
aatin
A14/6303-042




aisizoa § | A/6302-042 ISENPY  A/0312042

AISI310 T - A14/6302-042 (VEEILY  A14/0312-042

|

AISI304 § A/0790-042 zof ACELEE  A/0727-042

[._-_Q_éz,an ,5 .

FIES]  A14/0790-042 LR A14/0727-042 Mnew

49



50

ALumium  sstin | AL/6732-044

AL/0920-044

AL/06923-044

o

3000

6000

Mew

scoo

v/

Rubber

Rubber
interier

Rubber

black

gray

A19/5042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-010
A19/5042-216
A19/3042-022
A19/5042-222
A19/3042-G010
A19/5042-G-210

8,0-11,0

1,5-13,5

16,0-17.,5

20,0-21.5

16,0-17,S

black

gray

A19/5042-008
A19/5042-208
A19/3042-011
A19/5042-211
A19/3042-010
A19/5042-210
A19/5042-022
A19/5042-222
A19/5042-G010
A19/5042-G-210

16,0-17,S

20,0-21,5

16,0-17,5

45

a2

24



A19/5042-008 K 2090
A19/3042-208 B 5000
WB/06925-042 MW A19/5042-011 2500
8215 2500 A19/5042-211 NS5135 45 5000
WD/0925-042 hew Rubber  blsck  1o/5042-016 2500
A19/5042-216 fatils 5000
A19/5042-022 2500
A19/5042-222 20,0215 42 500

Rubber A19/5042-G-010 2500 W

inerier 9% L40/n042.6216 180778 sooo W

§

. 7 - S 09/03-3x12 Q5/03TR-310
WB/6925-042-atyp MW
9-22 25x00
WD/06925-042-atyp Mhew

51



A/6920-048 5000
A/0925-048 2500
A14/0920-048 S000
A14/0925-048 2500

4

ﬁ

FNELEY  satin | A/0732-048

YEEEP] satin  A/0313-048

52

A19/5048-008
A19/5048-208
A19/5048-011

A19/5048-211

A19/5048-015
A19/5048-215
A19/5048-022
A19/5048-222

+

27

8,0-11,0 2500

5000

2500
11,5-13,5

5000
150475 2500

5000

2500
20,0-21,5

5000

@ 48.3x1,5

/jl



1.2

14
- I a9/03ax12 MW  as/0sTRI0

14
. B8

AISI3T0

53



N,

54

1.5
40
= ‘
v
24
D —
4/6920-040 5000
satin  A/0923-040 2500
A14/6920-080 5000

A/6732-040
~3atin
A14/6732-040

8

s

A0xa0xe =

AISI304 A/6790-040
satin
AISI310 A14/6790-040

m eatin  A14/6302-040 e

A19/5042-008
A19/5042-208
A19/3042-011
A19/3042-211
A19/5042-010
A19/5042-216
A19/5042-022
A19/5042-222
A19/5042-G010
A19/5042-G-210

h
24
8,0-11,0 S
1,5-13,5 4,5
16,0-17,5
200215 4.2
16,0-17,5

40xa0

AISI304 ~ A/6503-040

~gatin

=] A14/6505-040

AISI304 A/6313-040

“satin

AISI310 | A14/6313-040




M satin A14/0303-040 oW

40x40x1,2/AL

2
25 1) f
]
g
3
| KA ¢
— 2‘ —
— w -
A19/3042-008 2500
80110 5
AL/6925-040 3000 hew A s
| s . A19/5042-011 Galas .45 (25
' ' AL/6920-040 5000 hew , A19/5042-211 513, 8 T
Rubber  black
419/3042-016 ot s 2500
A19/3042-216 il 5000
419/5042-022 2500
20,0-215 3,2
A19/3042-222 5000
Rubber 419/5042-G016 2500 EW
intersier 9% a49/5042.G216 18077 sooo W
40x40
e
_NEUTRO' ]
Q9/03-3x12 05/05TR-210

WB/6925-040-atyp

WD/0925-040-atyp

55



\

1.5/
1
3 .
24
e
24,
" 60
A/6920-640 5000
AISI304
A/6925-640 2500
X J
© A14/0920-040 5000
AISI310
A14/0925-640 2500
30
A
| 60x40x1,5
!
~ A/6732-040
aatin
A14/0732-040 MW
&
60x40x1,5
A/06790-040
2stin
AISI310 A14/0790-040 Mnew

56

Rubber

Rubber

black

gray

A19/3042-008
A19/5042-208
A19/5042-011
A19/5042-211
A19/5042-010
A19/5042-210
A19/5042-022
A19/3042-222
A19/5042-G010
A19/5042-G-210

8,0-11.0

11,5-13,5

16,0-17,S

20,0-215

16,0-17,5

y 60xdox1s

A/6313-040

A14/6313-640 P EW




25, 4x21x7.2

mew

25,4x21x1,2

13

21
A
14
vy
14 Q9/03-3x12 05/05TR-310
‘352
- = >
A14/6925-225 2500 Mew
<14

A14/0920-223 5000 new

7.3

<

25,4x21x1,2

A14/6314-225 new
25,4x21x1,2 >
< ~ 2 ‘4
A14/6732-223 Mew

57




o™

BRE

LT
T8

AL/0901-014-3000-S-E 2000
~ satin  ELOX

AL/6901-014-6000-S-E <14
6000

m Blzck AL/0901-014-6000-N-B

BRI 22x0x2

2 L—w‘

RPN | 2 AL/6901-017-3000-S-E 3000
M satin  ELOX <17
- AL/6901-017-0000-S-E 6000

58

Mnew

new
Mnew

=
me ] ,
as9/03-3x12 03/037R-310
B=
Lo, o
09/03-3x12 Q5/037R-310




ol
—t )
| I
| *O:
|
‘ 22
— - —
RO i
Q9/03-3x12 5
A/6901-018-2300 2500 G3/03TH;31G
AISI304 <13 1
A/6901-018-3000 5000 e
satin :
AL/0901-018-3000-S-E 3000 Lof
: ELOX
ALUMINIUN AL/6901-018-0000-5-E <18
- £000
m black  AL/6901-018-6000-N-B ew
26x20x2
o~
!
‘ I |
| 5 M
!
| % 26 224 03/03-3x12 Q5/05TR-310
AL/6901-022-3000-S-E 3000
< satin  ELOX
ALUMINIUN AL/0901-022-6000-5-E <22
- £000
m bieck AL/6901-022-6000-N-B MW
28x26x2
o~
!
—1 1 h
A
O
o~ 24'
- .
i LY PRI
. 28 |
A19/5042-008 80910 s 2890
,0-11,
A/6900-020 2500 A19/5042-208 5000
AR A19/5042-011 2500
= o)
_ A/6903-020 5000 i o Mew A9J 004523 N518S 45 oo
S 2 2 Rubber black
AL/6900-020 2000 MW A19/5042-016 NS 2500
AL/6905-020 £000 e A19/5042-210 T 5000
A19/5042-022 2500
20 O-2 2
A19/5042-222 200215 42 00
Ruober . = A19/3042G010 2500 W
interier 9% 44950426210 BONA scoo PEW




)

-

A A i . SRS .



077

-
:"—‘1
x: - -
7N
(&)
48| 1.
g5
X 48 | 2%
1 Il i I
TR
]
f g
L C—
J )
7 ot . A
1l x

1@

w105
©

1672:21.82

@
O
o)
=
"

Y

{
€

e o | s s | R 52

| =g LIsl, &
=

L 108 4 3
¢

- (0L [ @v T | =
1 '
T T T | i
= (‘ ]
{ H i b
v, 1 !
— - -r — — '
P

147620 22

m satin A14/0774-000 16,76-21,52 MeW b
61



aisizic B A14/230P-700 @

glasst
6 6,75 8 8,76 10

Al9/04-PVC
AISI310 IL E

£A14/230P-900 1

giseat
5 6,76 s 5,76 10 10,76

A19/23-PO6 A19/23-P07 A19/23-P0S A19/23-PO8 A19/23-P10 A18/23-P11

A/O74Gfront  A/O745-D30

A-DIN 973 M3

78,

10,76
A19/23-P06 A19/23-POT A18/23-P08 A19/23-P09 A19/23-P10 A19/23-P11

41274



plate t glasat
.5 2 3 8 8,76 10 10,76

A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-008 A19/22-010 A19/22-011

i

plate t glasat
1,5 2 3 8 8,76 10 10,76

A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A18/22-0089 A19/22-010 A19/22-011

A/O747-front A/f pnnrom

A-DIN 973 M10

8-107%

81078

- -

63










2 GLASS
E RAILING

2 HORIZONTAL
m RAILING

2 VERTICAL
u RAILING




2 FRENCH
& BALCONIES

o

FRENCH
BALCONIES



Lukaš Oravec�


Lukaš Oravec�



2 GLASS
m B RAILING




22/900-D42

A/0718-242

\)
@ -

A19/22-002

Af42,4x2

——
- "

A/0542-042

A/0718-242

*
@ -

A/2200-042

@ -

A19/22-009

A/0542-042

& -

A/0840-042-N

3
&\

69



22/1000-D42

8,76

A-VR100-2GR
A-VS100-2GR
A-VR100-2GL
A-VS100-2GL

A-VR100-4G
A-VR100-4GS0
AVS100-4G

A19/22-009

A/42,4x2

- -

A/0512-042

Da2.4x2 5

D42 4x2

1100
s




22/1000-D42

e —

D42, 4x2

Af0718-242 {
®
2 ! )
A/2200-042
&E - 1
=8
A19/22-000
] l N
Af42.4x2
D
7’ ix
§ i
AB/021-6-A...
‘ :\
D - =
GR GL A/5720042. 3*
‘ -
.‘acg.4
8

1100

d‘

e
Vo
2 —
tf
v I
A-BR100-4G ¢ -
A-BS1004G
8,76
A-BR100-4G90-IN
A-BR100-4G90-OUT

4G90IN

—

<

71



Bl °50P/1000-D42

-

AJO718-242

*

@ -
=
A/250P-042

pes -

A/0512-042

& -

A/0940-042-N

EEEMH setin 576 avRio0-2G-250P

1x

A/O7T18-242

Af250P-042

&E -

A19/25-009

A/0512-042

& -

A/0840-042-N

A A-VR100-4G-250P
satin 3,76
A-VR100-4G90-230P

@24,
A
[
" —
o~
)
TR
42,402
g%
-
-
-

1000
442




250P/1000-D42

Tx

A/250P-042

@ -

A19/25008

' 11
Af42 ax2

‘ AB/024-8-A..
i s ix
A/5720-242...

Rt A-BR100-2GR-250P
satin 8,76
s A-BR100-2GL-230P

AjOT18-242

Ix

AB/021-6-A ..

® -
A/5T20-242..

M sstin @ 576 A-BR100-4G-230P

&\

e
S
S

1000

@a2,ax2

642

73



22/1100-D42

T -

AJ0718-242

@ -

Af2200-C42

&E -

A19/22-009

AfA2 4x2

 —
-

A/0542-042

A/0940-042-N
B A-VR110-2GR
siso PR
A-VR110-2GL

T -

AJOT10-242

1x
AJ42.4x2
—
- "
A/0512-042
& -
A/0940-042-N

A-VR110-4G
satin @ 5,76
A-VR110-4G90

74

2 ax?
@.'.‘.-.:5‘_".-.’ -

RN

| Ba2.42




22/1000-40x40

A/4718-042

©

A/2200-000

@ -

A18/25-C08

i

AJP-VR100-2GR

AISI304 BETT 8,76
AJP-VR100-2GL

& A/4514-040
& -
A/4840-040

m ‘aatin | 8,75 AJPVR100-4G

Q428

g B
-
— |/
e
g § - 2A0x40x2
- ;
I B4
g L

75



ATYP-SET

@ 5}
hp’ E
| ﬁ-—:ﬂ' ! D l
[ 2
[ ‘G
“‘ -
o
@42, 4x2 ® -~
pD_.{ m AJ42 4x2
E ——
’ | ] A/0512-042
E?:B/
A/0940-042-N

4G

P e Y
= I T
— S

7 R

ATYP-SET-VR90-2G 900 458
ATYP-SET-VR100-2G 200

PUEELEY satin | ATYP-SET-VR100-4G90 1000 558 - -
ATYP-SET-VS100-2G 285
ATYP-SET-VR110-2G 1100 200 858 242

76



ATYP-SET

A _a
4 .

o i

@a2
2

' |

2 ’ i

e S
g

- 242 42 #
| »)
=
fod] fess
=
G
1%
r-_-__"_d

ATYP-SET-BS90/BR100-0G
ATYP-SET-BS100/BR110-0G

1000

Q(w

~

S

AB/021-6-A

A/ST720-242

-\

77



BRI ATYP-INOX

U4
)

. ~gmy,
EHE o 1 ' \ w-
2GR
L

A

A

A &

h2

AJA2 4x2

AB/021-8-A

A/57208-242

42 4x2 ATYPINOX A/42.4-L

AISI316 ATYP-INOX A14/42.4

AISI304 ATYP-INOX A/40x40

AISIZ10 40x40  ATYP-INOX A14/40x40
ATYP-INOX WB/40x40

78




|

A/42,4x2 Gs/8.76 A/5729-242 A-DIN 7380-A2 M5x12 —
[ Quality Finian : ar. L b GS/8.70 VR ‘a
b L | A/ZGVR100-1504 1500 1x 2x 8
= 42,4x2 A/ZGVR100-2780 3000 1000 2x ax %
A/ZGVR100-5350 6000 4x 5x 5
[ cuatity  Finian i an L o GS/8.70 BR &
} L ) A/ZGBR100-1304 1500 1x 2x
A A/ZGBR100-2780 3000 ki 2x ax
A/ZGBR100-3330 6000 ax sx
. not assembled
u¥i ’
Q/INOX-INSTALL-SET
L=M1+ M2+ M3+ M4 =40952 <
T2=111,2, s modul M1=3+2xT1 oy M2 e M3 e M4 i

1000

E&!&W’m T0-120x75-VSG J0-120x753-VEG
CQuality arn & [+ plas
- A 2rm
300
700 300
GS/8,76-80x75-VSG. - 800 o
GS/8,76-90x75-VSG 800 Togp 800
esm,nmoﬂs-m - 1000 900 82,4
GS/8,76-110x75-VSG 1100 1000
3 8,76
GS/8,76-120x75-VSG 1200 Top 1100
GS/8,76-120x75-VSG-MILK 1200 750 1200
GS/8,76-70x75-VSG/ESG - 700 Mel
mms—vsezm - 800 oW
ewa,n-soﬂsvse/m 900 Mo
mnmoﬂsvse/m 1000 _MW
Gsno,nmmsvswese 1100 MeW
asno,nﬂoﬂsmese 10,76 MEW
GS/10,76-120x75-VSG/ESG-MILK A

Modul M
M=-a+2xT1
3824
7824
882,4
982,4
1082,4
1182,4
1282,4

1004,3
1104,8
1204,8
1304,8
1404,8
1504,8

79






d12/900-D42

ASOT10-222...

&
[=]

. A-VR90-4D12
sstin
A-VS90-4D12
R A-VR90-4D12-L
polish
A-VS90-4D12-L
<> Iy o
042,48, Py
by 3 - o T
& l
1x 8- \ ' r:
s &
ASOT18-242... 1
&
B - Fog
(N =
A/0B30-D42... 3 O12 gl
= Fq
" ' " S hal '
) 5} l
Aja2.4ax2.. 8 e c]'
+
1x l e /
[T - |
o 3 1
AB/O21-B-A... & s\
\ ~—
1
D - ; @
= —
1 -
AfSTZ8-242... 3 |
‘ -hd
. A-BR90-4D12
satin
A-BS90-4D12
- A-BR9C-4D12L
polish
A-BS90-4D12-L

81



82

d12/900-DS0

T

1x
A/0B18-042
1x

%

A/1T32-060-12

& -

AB/B0x5-M18

WB-VR90-4D12
WB-VS90-4D12

Qa2.4_

252

&

b8 88 LV

M
W
1no_.,

E\



d12/1000-D42

: —
o
L (=Y . =
e
X )|

1x
AJOT18-242...
B -
A/0330-042 B
@
[
AJA2 ax2... l g
—
%‘ 1x ¥ 4
[ &
N
A/0512-042. . =
1x
N A/0940-042-N
. A-VR100-3D12
satin
~ AVS100-5D12
_ AVR100-3D12-L
polish
A-VS100-5D12-L
1 -
42,2 o .-
i AN o
s 1
1x 3 # ! IS
17 1
1 Flq
AJOT10-242. 4
&]
& -
A0B30042... g 8
€]
.8 "CJ';"C
7
g Be2.82 8
I 4 \
3 (3
B ' - o
AB/021-6-A... ~— /
l‘”'ﬁ} 1 /T
D - < 15
‘ ——

A/5728-242... ! m
Y

_ A-BR100-5D12 9[ [

A-BS100-5D12 AN

83



BRER G 12/900-40x40

I-

AJATIB-042
' A/0830-000
A/40x40x2

&

A/4511-040

A/4340-040
 AJP-VR90-4D12
" Asp-vsa0-4D12

4x
1x
1x

A/4732-040

AJP-BR90-4D12
AJP-BS90-4D12

84

@424

200402

o

0
2,




Bl d12/1000-40x40

0=
[}
_— L s
-~
i '
¢
~
< 1
I 1x
AJaTI8-042 @ .g
& -
4/0830-000 Bz 8
i ‘3 -
! 1x S0x40x2 1
®
A/40x30x2 @ 5i
1 |
9 = 3 =
i
A/4511-040

Q #

A74840-040
___ AJP-VR100-3D12
S8t JPVS100-5D12

i '942.4, %
ol ‘ !
R ¢
!
€
&
g
ix g N
g
Af4T18-042 8
& - = ~
A/0830-000 .W #
1x f ¢
&
A/40%40%2
l\
]
1x
§\
AB/005-4 1
» - Th
R‘ O]
!
A4732-040 ~ q
-

AJP-BR100-5D12 E
AJP-BS100-5D12

85



ATYP-SET/d/900

ATYP-SET-VR90-4D
ATYP-SET-VS90-4D

AISI304 JE-TTY

ATYP-SET-BR90-4D
ATYP-SET-BS90-4D

AISI304 00

86

O 2W

\7.,‘,- 2
By
: i
GO
g la
AJf42 4x2
A/0512-042
A/0940-042-N
a
) r"____
3
A
i
L,q
£ - 242,42
g
8
A/42,4x2 ] a
\
=
™~
AB/021-6-A T
s
1
A/5729-242 3
i

o

L)
[

| Iy o
3
L CHEp
u
R Y
] Y
8
4
1
ni'___" =
/|/
1@
‘V —
BR



ATYP-SET/d/1000

1
@
o
L€}
3
A
g P
AJ42,4x2 G282 0l e
| 8
:“O . 7 l
A/0512-042 § Eg 3
/
VIR
A/0940-042-N

ATYP-SET-VR100-3D
ATYP-SET-VS100-3D

2 {
 yon Y
: s e
19!._____
)
@
;:ﬂ
8
q
4 i
T
| | ez 8
- T
T
8 1 p—
\ = 1
42,42 l-_"i'] L@
Af42, 9
‘!\ 1
1
AB/021-6-A \F»L"
&

A/5729-242 ~-

ATYP-SET-BR100-5D
AISI304 IE-T 1)
ATYP-SET-BS100-5D

87



ATYP-INOX/D

ATYP-INOX A/42.4
ATYP-INOX A/42,41
ATYP-INOX A14/42,4
ATYP-INOX WB/D50
ATYP-INOX WD/D50

h$

n4

ATYP-INOX A/40x40
40x40x2

ATYP-INOX A14/40x40

ATYP-INOX WB/40x40

ATYP-INOX WD/40x40

L=max. 1200mm, max. 7 holec

88

i
z =5
&
-
£
! &
pd
g
2
ol
b
' ~
E &
(|
/E/
\ 4
™~
'E
f 3

b4

13
2
—
| =
g
o
€




A

B B & B

t%§\ﬁ o 3

§ A-DIN 7380
BR/BS A/42 ax2 A/12X1,5 A/5729-242  AJ0221-012 -A2 M3X12
A/ZVR90-1500 1500
A/ZVR90-3000 3000 900
A/ZVR90-6000 6000
42,4x2
A/ZVR100-1500 1500
A/ZVR100-3000 3000 1000
A/ZVR100-6000 6000
A/ZVS90-1500 1500
A/ZVS90-3000 3000
A/ZVS90-6000 6000
200
A/ZVS90-1500-L 1500
AISI304 i 42,4x2  A/ZVS90-3000-L 3000
A/ZVS90-6000-L 6000
A/ZVS100-1500 1500
A/ZVS100-3000 3000 1000
A/ZVS100-6000 6000
A/ZBR90-1500 1500
A/ZBR90-3000 3000 900
_ A/ZBR90-6000 6000
AIS1304 42,4x2
A/ZBR100-1500 1500
A/ZBR100-3000 3000 1000
A/ZBR100-6000 6000
A/ZBS90-1500 1500
A/ZBS90-3000 3000 200
A/ZBS90-0000 6000
AISI304 i 42,4x2
A/ZBS100-1500 1500
A/ZBS100-3000 3000 1000
A/ZBS100-6000 6000

3#

not assembled

89



VERTICAL
0] RAILING

2




BBRER 1000/VER

AISI304 ¢

754

Qusaliity

AISI304 ¥

91



92

s 41"
A-VER-VR/ER
< L

A

vv] Ty

LAl LAl

PUS<DER gatin | 42 ax2

PSSR satin 42, 4x2

PUS=LYEE satin 42 4x2

FVSXD S satinn 42 4x2

Lo xDRE gatin 42 dx2

FUSSLES satin 42 4x2

PUS<LEE satin 42 4x2

Q/INOX-INSTALL-SET

A/ZVWR100-2000-D33/D12

A/ZVWR100-2000-D42/D12

A/ZVWR100-2000-D12/D12

A/ZVVS100-2000-D12/D12

A/ZVBR100-2000-D33/D12

A/ZVBR100-2000-D42/D12

A/ZVBR100-2000-D12/D12

2000 1000

2000 1000

2000 1000

2000 1000

2000 1000

2000 1000

2000 1000

A/12x1,5-3000 A/0302-042 A/0831-042

=y Yy HNeeyow

A/33,7x2 A/42.4x2-10x12-1300 A/33.7x2-
A/42.4x2 A/42,4x2-13x12-2000 15xM3-2000

A/0832-012 A/5729-242 A/OT727-242S
& 2x 2x
= 2x 2x

30x 2x -
30x 2 -
s 2x 2x
= 2 x
30x 2 3

*&

o

<P

not assembled



93



FRENCH
m BALCONIES

2




1 3 { § [ 3
* GS-304/FRB2-800x1230-042 5.76VSG * GS-304/FRB2-800x2300-042 3,76 VSG

95



FRENCH
] BALCONIES

2




[Isw

AJP-VERVR100 A/4718000-B  A/40xd0x2 260’;"35%2/:; GS/8,70- ... GS-PVC/ZP...
A/ZGALVR100-6000 AISI304 AISI304 AISI1304 ALUMINIUM GLASS Rubber
Sx Sx &m 2x3m sx 2am
Types of anchoring
GS-AL/ZP-20x30/S{VA A/6925040 GS-AL/ZP-3535/N/E

97









3 GLASS
m B CLAMPS
AXIAL




3 GLASS
m CLAMPS
FRONT

3 SHEET
| CLAMPS

Aumakov’
€)'  FRODUCT/SYSTEM/DESIGN



3.1 caves
AXIAL




o

-

L |
g
J
i
%8
I ;’ e
2 3
8 8
1
hi h2 b
g min . 10 . 10 500
g max. 120 120 1500
S1SYSTEM
b (mm)
(kN/m2) )
500 750 1000 1250 1500
8,76 0,75
15 0.5
Glass ¥0;76 2 L 1 0,5
VSG/ESG 12,76 2 1,5 . 1 '
t{mm) 16,76
2.5 2 15
17,52
S2SNSTENMES 3 SYSTEM
b (mm)
(kN/m2)
. 500 \ 750 ' 1000 ‘ 1250 | 1500
| 876 1 05 \
ke ,\ 10,76 2 15 1 0,5 \
VSG/ESG | 1276 15 1 \ 0,5
t(mm) | 16,76 ‘ 2 '
' 2.5 2 1,5 1
| 17,52

*Uvedene hodnoty su orientaéné nakolko technicke normy sa v jednotlivych krajinach lisia. Pri navrhu zabradlia je potrebné zchladnit aj dalsie faktory ako je veterna zona, ucel stavby,

hibka prepadu, kotvenie stipika, ...
*The values given are just informative because the technical standards vary from country to country. When designing railings, other factors have to be taken in consideration such as

wind zone, purpose of construction, depth of overflow, post anchorage, ...
103



13,52
16,76
17,52
20,76
21,52

© ©
o KNl N 2 §
o @ O
6-10,76
8-10,76
612,76
6-12,76
v /7
6-12,76
4-6 8
L —
28

104




o

w
=
0

1)

es'ie

9.'02

es'LL

VAT

zs‘el

9.'zk

cl

9'0L

6-10,76

6-10,76

6-10,76

8-12,76

12-16,76

8-12,76

17,52-21,52

105



-1076

®10_,

6

—

- -—

A/2000-033 33,7
1x
A/2000-042
satin 42 4 v
A/2000-042-set4 ax 4x 8x
AISI304 A/2000-048 48,3
A/2000-033-L 337
A/2000-042-L 42.4
v
A/2000-048-L 48,3
A14/2000-033 337
A14/2000-042 424
AISI316 1x
A14/2000-048 48.3 v
A14/2000-042-L 424
ZN/2000-033 337
ZN/2000-042 424
satin  ZN-SATIN/2000-042 424 v

polich  ZN-POLISH/2000-042 42 4

plate t glass
1.5 2 3 6 6,76 8 8,76 10 10,76
A19/20-0015 A19/20-002 A19/20-003 A19/20-006 A19/20-007 A19/20-008 A19/20-009 A19/20-010 A19/20-011

6-10.76

-

A/2000-000 1x

satin
AISI304 A/2000-000-zet4 4x 4x 8x new
polish A/2000-000-L

satin  A14/2000-000

AISI316
polish

A14/2000-000-L
ZN/2000-000
ZN-SATIN/2000-000

ZN-POLISH/2000-000

plate t glass t
1,5 2 3 6 6,76 8 8,76 10 10,76
A19/20-0015 A19/20-002 A19/20-003 A19/20-006 A19/20-007 A19/20-008 A19/20-009 A19/20-010 A19/20-011

106



A/2200-042

A/2200-048
A/2200-042-L
A/2200-048-L
A14/2200-042

AlSI316 A14/2200-048
A14/2200-042-L
ZN/2200-042

ZN-SATIN/2200-042

> [ plate t
1.5 2 3

424
483
424
48,3
424 v 1x
483

424

42 4

glasst
8 8.76 10 10,76

A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-009 A19/22-010 A19/22-011

satin  A/2200-000
polish  A/2200-000-L

satin  A14/2200-000
AlSI3i6
A14/2200-000-L
ZN/2200-000

ZN-SATIN/2200-000

@10
—

L._l8-107¢

rt

glasst

8 8.76 10 10.76

plate t
1,5 2 3
A19/22-0015 A19/22-002 A19/22-003 A19/22-008 A19/22-008 A19/22-010 A19/22-011

8-10.76

——

107



IWSEREN =atin  A14/2200-700 1x

| plate t | glasst
1,5 2 3 8 8,76 10 10,76

A19/22-0015 A19/22-002 A19/22-003 . A19/22-008 A19/22-009 A19/22-010 A19/22-011

INGESEN  =atin - A14/2200-900-B 1x

[ plate t | glasst
‘ 1,5 2 3 | 8 8,76 10 10,76
A19/22-0015 A19/22-002 A19/22-003 | A19/22-008 A19/22-008 A19/22-010 A19/22-011

108

28 23 2
| i
|
16 @10
108

'

| 8-107

| 8-10.76




AlSi316

i
s

A/2500-042
| A/2500-042-zet4
A/2500-048
A/2500-048-setd
| A14/2500-042
| A14/2500-048

6 6,76

A19/25-006  A19/25-007

new  hew

A/2500-000

satin  A/2500-000-setd4

A14/2500-000
6 6,76
| A19/25-006  A19/25-007
ew e

42,4

48,3

42,4
48,3

8
A19/25-008

o

1x
4x
1x
8
A19/25-008

glasst

8,76
A19/25-009

10
A19/25-010

A-DIN 912-A2 M&x20

4x

glasst

8,76
A19/25-009

10
A19/25-010

@10

6-1276

A-DIN 912-A2 M8x20 A19/04-PVC

1x ZO»#\-
4x 4x 8x nel
1x

ax ax 8x new
1x

10,76 12 12,76
A19/25-011 A19/25-012 A19/25-013
219
| |

6-12,76

1,19
| 20 28
48

| 63 -

d
A19/04-PVC
8x Mnew
10,76 12 12,76
A19/25-011 A19/25-012 A19/25-013

109



110

A/250P-042

AISI304

A/250P-042-cetd 42.4
ZAMAK 2ZN/250P-042
= ‘ 6 6,76 8

| A19/25006  A19/25007  A19/25-008

new - new

A/250P-000 1x
AISI304

A/250P-000-cetd4 4x
ZAMAK ZN/250P-000 1x

6,76 8

‘ 6
' A19/25006 A19/25-007 A19/25-008

nhew  new

glasst

8,76
A19/25-009

10
A19/25-010

912-A2 M8x20
4x
glasst
8,76 10
A19/25-009  A19/25-010

1x
4x 4x
1x
10,76 12
A19/25-011 A19/25-012
A19/04-PVC
8x new
10.76 12
A19/25-011 A19/25-012

11
T el 4

|6-12.76

6-1276

‘-.A~—.‘._

E- Dl ]
L 48
5% 63
A19/04-PVC
8x Mew
12,76
A19/25-013
210
[ A
i i |
Lo
T s
L I
12,76
A19/25-013



-+
oo ‘:‘
1
L
[
' 90" %
-_—
A-DIN 912-A2 M5x20
A/2800-033 33,7
satin v c
A/2800-042 42,4
glass t
A19/28-004 A19/28-008 A19/28-008

oo|

—— T3 3

(B |

!

—‘] — |
13
L 35

' A-DIN 912-A2 M5x20
M satin  A/2800-000 1x
glass t
4 6 8

A19/28-004 A19/28-006 A19/28-008

111



112

AISI304

AISI316

AISI316

g % ¢
i ;
A-DIN 912-A2 M8x20 A19/04-PVC
A/2100-033 33T
1 1x
A/2100-042 42 .4
satin
A/2100-042-setd 42 4 4x 4x 8x A%
v
A/2100-048 48,3
polish A/2100-042-L 42 4
A14/2100-033 33,7
satin  A14/2100-042 42,4
A14/2100-048 48,3 1x
A14/2100-042-L 42 4
v
ZN/2100-042
ZN-SATIN/2100-042 42 .4
ZN-POLISH/2100-042
plate t glasst
1;5 2 3 6 6,76 8 8,76 10 10,76
A19/21-0015 A19/21-002 A19/21-003 A19/21-006 A19/21-007 A19/21-008 A19/21-008 A1S8/21-010 A19/21-011
Nd|
=]
I T
14 ‘
A !
LI 11
S [
19 _|
i A-DI 3%2 04-PVC
satin  A/2100-000
polish A/2100-000-L
satin  A14/2100-000
A14/2100-000-L 1x
ZN/2100-000
ZN-SATIN/2100-000
ZN-POLISH/2100-000
plate t glasst
15 2 3 6 6,76 8 8,76 10 10,76

A19/21-0015 A19/21-002 A19/21-003 ‘A19/21—006 A19/21-007 A19/21-008 A19/21-008 A19/21-010

A19/21-011



A/2300-042

AISI304 A/2300-042-zetd

polish A/2300-042-L

INSEIN  satin A14/2300-042

ZAMAK ZN/2300-042

6 6,76
A19/23-P06/K08 A19/23-PO7/K09 A19/23-P08/K10 A19/23-P09/K11

A/2300-000
satin
AISI304 A/2300-000-set4
A/2300-000-L
AlSI316 A14/2300-000
ZAMAK ZN/2300-000
6 6,76

A19/23-P06/K08 A19/23-PO7/K09 A19/23-P08/K10 A19/23-P0S/K11

ta—am-

//\‘
8/ —I
' ¢
A 11 1
.15 | ‘
.18
— 45 —
I = % ¥
i ‘ )
A-DIN 912-A2 M8x2 P\
1x
4x 4x 8x Mew
v/ AW
1x new
8.76 10 10,76
A19/23-P10/K12 A19/23-P11/K13
2|
~|
S|
I
15
18 |
45

4x 8x Mnew

8.76 10

10.76

A19/23-P10/K12 A19/23-P11/K13

6-1076

113



6-1076

L~

A/230P-033 33,7 s
1x -
A/230P-042 4.0/5%
satin 42 4
AISI304 A/230P-042-cetd ax ax 8x Aew
A/230P-048 48,3
polish  A/230P-042-L
424 v
A14/230P-042
satin 1x
AISI3 16 A14/230P-048 48,3
polish A14/230P-042-L 424
ZN/230P-042 42,4
glass t
6 6,76 8 8,76 10 10.76

A19/23-P06/K08 A19/23-PO7/K09 A19/23-P08/K10 A19/23-PO9/K11 A19/23-P10/K12 A19/23-P11/K13

!
6-10.76

& i
L
N

P
|

A/230P-000 1x '%'4.74}\
satin
AISI304 A/230P-000-setd 4x 4x 8x Aew

polish A/230P-000-L

satin  A14/230P-000

AISI316 1x

A14/230P-000-L

ZAMAK ZN/230P-000

glass t
6 6,76 8 8,76 10 10.76
A19/23-P06/K08 A19/23-PO7/K0S A19/23-P08/K10 A19/23-PO9/K11 A19/23-P10/K12 A19/23-P11/K13

114



17.5 19 17.5,

| 6-1076

—]
N

4

A19/04-PVC
 A14/230P-700 1x
glasst
6 6,76 8 8,76 10 10,76
A19/23-P06/K08 A19/23-PO7/K09 A19/23-P08/K10 A19/23-P09/K11 A19/23-P10/K12 A19/23-P11/K13

45
27.5 |
15_] 17,5 3
r |
4 * “’1
|
!

w

A19/04-PVC
A14/230P-900 1x

glass t
6 6,76 8 8.76 10 10,76
A19/23-P06/K08  A19/23-P07/K08  A19/ 23-P08/K10 A19/23-P0S/K11 A19/23-P10/K12 A19/23-P11/K13

115



A/23KP-042
satin 42,4
AISI304 A/23KP-042-set4
polish A/23KP-042-L v
42,4
satin  A14/23KP-042
AISI316
polish A14/23KP-042-L 42,4
glass t
8 8,76 10 10,76

A19/23-P06/K08 A19/23-PO7/K09 A19/23-P08/K10 A19/23-PO9/K11

A/23KP-000
AISI304 A/23KP-000-cet4 4x 4x
polish  A/23KP-000-L

satin  A14/23KP-000

AISI316

polish  A14/23KP-000-L

glass t
8 8,76 10 10,76
A19/23-P06/K08 A19/23-PO7/K0S A19/23-P08/K10 A19/23-PO9/K11

116

4x 4x

12 12,76
A19/23-P10/K12 A19/23-P11/K13

8x

SEEY

12 12,76
A19/23-P10/K12 A19/23-P11/K13

8-12.76

——

SEEE

L l8-1278



A/2400-042

AISI304
A/2400-042-cet4

A14/2400-042
A14/2400-048

ZN/2400-042

A/2400-000

AISI304 v
~zatin  A/2400-000-zet4
AlSi316 A14/2400-000

ZAMAK ZN/2400-000

42,4

48,3

42,4

glass t
12,00 12,76 13,52
A19/24-012 A19/24-013 A19/24-014

glasst
12,00 12,76 13,52
A19/24-012 A19/24-013 A18/24-014

16,76
A19/24-017

4x 8x

16,76
A19/24-017

8x new
E‘
D2, o
= T Q‘
1
I
17.5] '
EEA-
41
55

117



A/2600-042
42,4
AISI304 A/2600-042-cet4
A/2600-048 48,3
A14/2600-042 42,4
AlSi316
A14/2600-048 48,3
ZN/2600-042 42,4
ZN/2600-048 48,3
ZN-SATIN/2600-042 42,4
glasst
8 8,76 10

A/2600-000 1x
AISI304 -
~satin  A/2600-000-set4 4x

AlSI3i6 A14/2600-000

ZN/2600-000 1x

ZN-SATIN/2600-000

glasst
8,76 10

8
n A19/26-008 A19/26-009 A19/26-010 A19/26-011

A19/26-008 A19/26-009 A19/26-010 A19/26-011

12

4x

12

A19/26-012

4x 4x

12,76

A19/26-012 A19/26-013

8x new

12,76
A19/26-013

8-12.76

——



!
i
[17,52- 21,52

5§

20,5| 24,5_|

-
60

AlSi316 =\l A14/2700-000 1x new

rew  mnew  hrew

glasst
17.52 20,76 21,52
A19/27-018 A19/27-021 A19/27-022 ﬂ

|
4
= |— i
1

i

1o, ‘ |

- 13 -
b 0 -
| Y
-
A-DIN 912-A2 M5x20
‘ A/2900-033 33,7
satin v/ 1x
A/2900-042 42,4
glasst
4 6 8
A19/29-004 A19/29-006 A19/29-008
0
<|
|
|
1
13
a — 30 -
7 i A-DIN 912-A2 M5x20
m satin  A/2900-000 1x
glasst
4 6 8
A19/29-004 A19/29-006 A19/29-008

119



A14/0783-000 flat v

; 8-12,76
A14/0783-042 424 -

B I o
Finish art glass ¢ —
A14/0782-000 flat v
; 8-12.76
A14/0782-042 424 -

glasst
» 8 8,76 10 10,76

A19/07-009 A19/07-011

| A/1000-000 flat
AISI304 EEETTY

| A/1000-042 42,4

120

c

1x

—)

A4-DIN 7921 M8x20

g

Mnew
hew

12 12,76

A19/07-013

A-DIN 7991-A2 M6x 16

hew
new

24

1" 50

!

- N

0

0
8.1 l.s

40

|22 15
. }
o o]

©32




121






.0_,
43
T .
2o R Aoz
| s 18 &
$ &
¢ ¢
JASELEY satin | A/4100-042 1x JAEELES <atin  A/4100-000 1x

14

JNSEGEN =atin | A/4100-742 1x AW FAEELES =atin | A/4100-700 1x new

glasst
8 8,76 10 10,76 12 12,76

A19/4041-008 A19/4041-009 A19/4041-010 A19/4041-01 A19/4041-012 A19/4041-013

123



40

24
o
w)
AN
0
36 2
39 3
&
W A/4000-042 1x
! <«
2= ]
]
2
o
b
[
ISk EY =atin  A/4000-742 1x
. 8 8,76 10
A19/4041-008 A19/4041-009 A19/4041-010

124

AISI304

glass t

A19/4041-011

satin A/4000-000

10,76

1x

A19/4041-012

263

0
N
o
)
‘
| <
=i &
; I
36 2 i
39 o
)
@25
@20
new
12,76
A19/4041-013



21X

satin  A14/2100-742 satin A14/2100-700
AISI316 1x AlSi3ie 1x
polish A14/2100-742-L polish A14/2100-700-L
21XX

14

LAN

28

6-12,76

®25,2
@20

satin A14/2110-742 satin A14/2110-700
AlSI316 1x AlSi316 1x
polish A14/2110-742-L polish A14/2110-700-L
glasst
6 6,76 8 8,76 10 10,76 12 12,76
A19/21-706 A19/21-707 A19/21-708 A19/21-709 A19/21-710 A19/21-711 A19/21-7112 A19/21-713

125






plate t

15 2 3
A19/20-0015 A19/20-002 A19/20-003
plate t
15 2 3
A19/21-0015 A19/21-002  A19/21-003
plate t
15 2 ;
A19/22-0015 A19/22-002 A19/22-003
A
b

¥
- a -
A/MR-2x3 A/MR-10x15
A/MR-2x3 1 new
satin 1000x2000
A/MR-10x15 2 v

A/MR-28x13x2 A/MR-82x20x3
A/MR-28x13x2 28 13 1 3.8 e
satin 1000x2000
A/MR-62x20x3 62 20 2 5,7 new

127



33,7 A/0743-033
42,4 A/0743-042
48,3 A/0743-048

42,4 A14/0743-042

A/18-frame 18 1.7

25 40 15

A/0743-000 7
25 40 15 1,540
1.54.0 A14/0743-000

1,25 . A/18-Goo A/18-frame new
satin  A/20-frame 20 3000 1,5-2 A/27-G90 A/274rame new
1,5
A/27-frame 27 1,3
plate t
N0
t
A/20x20x2-frame 20x20 1,5 1,2 MW W""“ A/20x30x2-GO90 A/20x30x2-frame MW
I\EELPY satin  A/30x30x4-frame 30x30 4 3000 Al
1,5
A/30x30x7,5-frame 30x30 7.5 Mnew
plate t
-
[
W s
| >
\ |
N T
|
|
™
20x30 1,7 3000 AW




129









4 CABLE
m B SYSTEM

4 D vanprais

4 LED
u HANDRAILS

LY



4 HANDRAIL
| HOLDERS

4 CROSSBAR
B HOLDERS



Lukaš Oravec�



4_6 CONNECTORS



Lukaš Oravec�



FLANGES,
| BASE COVERS

4 SQUARE
B SYSTEM


Lukaš Oravec�



IR 1 et . s 1 T VR e




A14/7900-003-012
A14/7900-003-025
A14/7900-003-050
A14/7900-003-100
A14/7900-003-200
A14/7900-004-012
A14/7900-004-025
A14/7900-004-050
A14/7900-004-100
A14/7900-004-200
A14/7900-005-012
A14/7900-005-025
A14/7900-005-050
A14/7900-005-100
A14/7900-005-200

AlSI316

AISI316

AlSI316

FIX

A14/7370-003
A14/7370-004

AlSI316 EFTE
: A14/7370-005

A14/7370-006

12,5
25

100

200

12,5
25

100

200

12,5
25

100
200

3.5 5.5 3
32 35

4.4 6.3 4

53 87 75 41 S

65 47 9 52 6

AISI316

AlSI316

A14/7900-006-012
A14/7900-006-025
A14/7900-006-050 6
A14/7900-006-100
A14/7900-006-200
A14/7900-008-012
A14/7900-008-025
A14/7900-008-050 8
A14/7900-008-100
A14/7900-008-200

12,5
25
50

100

200

12,5
25
50

100

200

$141:

137



138

A/7350-003
AISI304 A/7350-003-B

A/7350-005

A14/7350-003
AlSI316

A14/7350-005

A14/7330-003
A14/7330-004

AISI316 S

- A14/7330-005
A14/7330-006

A14/7300-003
A14/7300-005

AISI316 s

6,0
6,0
9.5
6.0
9.5

@ A W

3
4-5

10

10

7.5

9.6

13
13
20

20

12

13
15

51
65

50

58
72

25

30
40

13
15

4.8

5.8
7.8

- ®

d 3mm

YLV/LP-6,0x5,0/1,5-316

d 3-5mm
B
© -+
A14/7604-005
d 4-7Tmm
C
’ +
A14/7601-005
— L -—
|

A14/7350...

A14/7350...




FLEX

AISI304

AlISI316

AISi316

AISi316

A5/Le

Al4/Le

$ .,
46 o~

4-5

-

L1

_ A14/7360-M6
 A14/7360-M10

13 35 8 39 6
17 45 13 50 10

=

i

‘ A14/L5-3 3 635 38 48 100
A14/L5-4 4 75 45 48 108
A14/L5-5 S 9 & 63 10 132

- A14/LS-6 6 125 64 63 10 148,5
A14/L5-8 8 16 83 80 12 180
A14/L5-3-LEFT 3 635 38 48 100
A14/LS-4-LEFT 4 75 45 48 108
A14/L5-5-LEFT S g 51 63 10 132
A14/L5-6-LEFT 6 125 64 63 10 1486,5

right

left

b
a7
[
—i
A14/L6

139



SNSRI | EX - VARIO

102

P12

|
Z

v
\
D]
(]

“\DIN 7380 Méx12

AlISI304 A5/L6-V
satin 4-6

AlSI316 Al4/Le-V

 A5/L7-6 45 17
ﬂ-ﬁ' ‘?
A5/L7-8 58 19

A/7250-003 3 10,5 160-220 7,5 12 6
A/7250-005 4-5 17,5 230-340 10.3 13 8.5 A14/7350...
A14/7250-003 3 8 140-200 7,5 12
AISI316
A14/7250-005 5 13,5 230-340 103 13

140



Bl FLEX - VARIO

| A14/7330-M6
A14/7330-M10

6
10

13,5
20

9
12

61
73

59 MW

A14/7350...

141




OFF - AXIS

D4-6

PIErd . A5/L6G
aisiaie | | A14/L6G

| 42,4 A/0830-042

. flat A/0830-000
42.4 A14/0830-042
_ flat A14/0830-000

AISI304

AlSI316

| 42,4 A17/442-3 3 ‘

NSELYN 424 A17/442
satin
l ~ flat A17/400 6
AlSI316 § | 42,4 A14/442

@

142



' AL/7405-003 3 15 11 7

AL/7405-004 4 16 14 9

raw AL/7405-005 5 22 17 11

AL/7405-006 6 26 19 12

AL/7405-008 8 32 27 17

h
< b =

@ satin  YLV/LV-70x120x1,5-316 70 120 800 1,5 (\SEY natural YLV/LP-6,0x5,0/1,5-316 3 05 7

0 * B9 o

A/5729-242 A/0305-012 A/12x1,5 /42 4x2 YLYLP.

.._\‘ \ \

A/o718-242

YLV/LV-70x120x1,5-316

‘D = ® > = = =
/ - - - - - - - - -
p K\ < 7 /

A R e e
;/ ‘\
v4 | S ]

& N~

\

A-VER-VR100 A/0830-042

\

143



MRIGHT

s
- g
— = 233 =
i i N o
] 9 O
A14/7605-M6 90 6 Mew
AISI316 EEFI0E
A14/7605-M10 120 10
A14/L5...
A14/LS...

o 130-200

LIRS raw A14/7500-010

YLV/LP-6,0x5,0/1,5-316

YLV/LP-6,0x5,0/1,5-316

ra==o0+ P

A14/7604-005 A14/7604-005
ﬂ + O+~ + Q
A14/7601-005 A14/7603-005 A14/7601-005

144




I
o|
of _ %Z
IR
A/7400-003 3 18
~ A/7400-005 38 20
A14/7400-003 3 18
AISI316 »
A14/7400-005 3-6 20

o B

5 ~ 1 !

IWEESEY catin - A14/7603-005 new
(EEYEY  catin - A14/7604-005 new

[EETL  catin A14/7601-005 new

LISER Y natural  YLV/LP-6,0x5,0/1,5-316 3 0.5 7 Q8/95 3-8

145



4 _ 2 HANDRAILS




AISI304 BEET

AISI304 JEETY

S KGEY polish

AISI316 EEEUT

A/10x1-3000
A/10x1-6000
A/12x1-3000
A/12x1-8000
A/12x1,5-3000
A/12x1,5-6000
A/14x1,5-3000
A/14x1,5-6000
A/16x1,5-3000
A/16x1,5-6000
A/20x1,5-3000
A/20x1,5-6000
A/25x2-2000
A/25x2-8000
A/33,7x2-3000
A/33,7x2-6000
A/42,4x1,5-3000
A/42,4x1,5-6000
A/42,4x2-1500
A/42,4x2-1500-EXCLUSIVE
A/42,4x2-2000
A/42,4x2-2000-EXCLUSIVE
A/42,4x2-3000
A/42,4x2-3000-EXCLUSIVE
A/42,4x2-6000
A/42,4x2-6000-EXCLUSIVE
A/48,3x2-3000
A/48,3x2-6000
A/12x1,5-3000-L
A/12x1,5-6000-L
A/42,4x2-1500-L
A/42,4x2-3000-L
A/42,4x2-6000-L
A14/12x1,5-3000
A14/12x1,5-6000
A14/42,4x2-3000
A14/42,4x2-6000

General tolerances
T3/D3 EN 10217-7
(t £10%. max £0,2mm;
D +0,75%, max =0,3mm)

10
4
12
12
14
1,5
16
20
25
2
33,7
15
424
2
48,3
12 15
424 2
12 15
424 2

3000
6000
3000
6000
3000
6000
3000
6000
3000
6000
3000
6000
2000
6000
3000
6000
3000
6000

1500

2000

3000

6000

3000
6000
3000
6000
1500
3000
6000
3000
6000
3000
6000

g

SR £

satin

A/8-3000 8

A/12-3000 12
A/12-6000 12
A/20-6000 20

3000

6000

/

147



148

MONOLIT [l

Tof

art D L
'WB/D42-L1200 1200
!ws/b4z-|.1soo 1600
Sws/o42-|.zooo 2000
Ews/mz-t.zsoo “ 2500
natural éws/mz-l.sooo 3000
Ews/mz-uwoo 4000
iws/nso-l.zooo 2000
'WB/D50-L2500 49 2500
!ws/bso-l.sooo 3000
iwo/mz-uzoo 1200
éwn/o4z-L1soo 1600
!wo/o4z-Lzooo 2000
iwo/n42-|.zsoo 2 2500
~ natural ;WD/D42—LSOOO 3000
'WD/D42-L4000 4000
iwn/oso-Lzooo 2000
§wo/nso|.zsoo 49 2500
Ewoloscn.sooo 3000
Quality  Finish art D h L |
WB/40x40-L2000 2000
WB/40x40-L2500 2500
WB/40x40-L3000 3000 |
WB/40x40-L4000 4000
natural 40 40 8|
WD/40x40-L2000 2000
WD/40x40-L2500 2500
: WD/40x40-L3000 3000
4000

WD/40x40-L4000

W -

Quality

Finish

natural

hew

WB/D42-L2000-CINK
WB/D42-L2500-CINK
WB/D42-L3000-CINK
WB/D42-L4000-CINK

-« >
cca 600

2000
2500
3000
4000



A L
t
A
A
A/40x20x2-6000 40 20
A/10x10x1-6000 10 10
1 satin  A/50x30x2-6000 50 30 6000
A/12x12x1-6000 12 12
A/60x40x2-6000 60 40
A/20x20x1,5-6000 20 20 1,5 6000
A/25x25x2-6000 25 25
A/30x30x2-6000 30 30
A/40x40x2-1500 40 40 1500
satin
A/40x40x2-2000 40 40 2000 | AEW
2 {
A/40x40x2-3000 40 40 3000
A/40x40x2-6000 40 40
A/60x60x2-6000 60 60
A/80x80x2-6000 80 80
6000
A/100x100x3-6000 100 100 3 new
polich A/40x40x2-6000-L 40 40 new
2
PNSEIC] satin  A14/40x40x2-6000 40 40
-y
; NN
A/10x10-3000 10 10 3000 A/15x5-2000 2000 W
satin A/10x10-6000 10 10 A/15x5-3000 15 3000 e
6000
A/12x12-6000 12 12 Mew A/15x5-4000 4000
A/20x5-6000 20
satin  A/25x5-6000 25 5
A/30x5-6000 30
6000
A/40x5-6000 40
A/50x5-6000 50 new
A/80x5-6000 60 e

149



A/42,4x2-10x12-1300 1300 w satin  A/40x40x2-15x12-2000 40 40 1300 12,3 e
132
satin  A/42,4x2-15x12-2000 424 2 2000 12,3

A/42.4x2-H-atyp

. A/40x40x2-15x10x10-2000 10x10 FeW

satin 40 40 2000
A/40x40x2-15x12x12-2000 12x12 W

A/33,7x2-15xM5-2000 33,7
satin 2 2000
A/42,4x2-15xM5-2000 42 4

150



80& 6 Q 1

-« >
L > .
l< b » A/M-1500 1500 2x 2x 4x
A/M-2000 2000 2x 2x 4x Mnew
A satin | 42.4x2 75x50
Y A/M-3000 3000 3x 2x 6x
A/M-6000 6000 5x 2x 10x
P
P T O 1
-« >
- L »>
b AJP/M-1500 1500 2x 2x 4x
, AJP/M-2000 2000 2x 2x 4x
A satin | 40x 40 75x50
H \ AJP/M-3000 3000 3x 2x 6x
AJP/M-6000 6000 5x 2x 10x

< L >
WB/M-2000 2000 2x 4x
b
WB/M-3000 3000 4x 8x
WB/M-4000 4000 Sx 10x
I-f natural 42 4x2 75x50
Y WD/M-2000 2000 2x 4x
WD/M-3000 3000 4x 8x
WD/M-4000 4000 Sx 10x

WBJP/M-2000 2000 2x ax

WBJP/M-3000 3000 4x 8x

WBJP/M-4000 4000 Sx 10x
natural 40 x40 75x50

WDJP/M-2000 2000 2x 4x

WDJP/M-3000 3000 4x 8x

WDJP/M-4000 4000 Sx 10x

> &
3F

not assembled
151



4 g 3 II-_IEAIRIDRAILS




Bt milk

Effect art -

ELOX AL/24x21-LED 1250

You™H) umakowv

A19/PD-LED

A-DIN 7991-A2 M5x10
A-DIN 7380-A2 M5x12

A14/0112-000-LED-B

153



LED

154

AL/23x25-LED 1250 W

LS raw  A14/PD-LED-23x25 MW

A/692...

A-DIN 7380-A2 M5x12

A14/PD-LED-23x25

A-DIN 7380-A2 M5x12

A14/0112-000-LED-B

AL/23x25-LED

A/6732-042

A/GLUE...




6!;:;]1%‘.’ i .F"i|r~,i;h ACrcrlror art

white 5S000K LED/24x24

+
SILICONE

LED

axb

24 x 24

—

A14/4114-042-LED

YoullTD umakov

LED/24x24

A/6732-042

A/GLUE...

YEM/2x0,75-SET

155



satin  A14/0112-000-LED-B  Jaail/

‘zatin A/0110-42-55-35-LED JA.€M/

156



— ®9 —-——*1
1 FER
I\ I [z T —
| ‘
=] =
co.‘ !
I . [
D426 |

YEM/2x0,75-SET 0,75

157






WELD

AISI304
AlSI316

A/0113-000-R
A14/0113-000

AISI304 BT

A/0113-000

A/0114-266-Z

AISI304 BEF

A/0114-366-Z

Le

5

159



160

[

A/0110-370-Z  80x75 @

A/0110-000-Z 73x71




W _satin  A/0114-366-M6 E}

161



162

M8X80

-

79




lil |

(nsiz0s [ RIS ba?

|
w satin  A/0131-M6 ﬁ\

11,5
175

acor [ ARV |

163



164

- 43
33,7 A/0111-033
satin 42,4 A/0111-042
48.3 A/0111-048
polish 424 A/0111-042-L
LS ERE  satin 42,4 A14/0111-042
- 64
43

64

—

%065

Q5/07-12 NYLON

A-DIN 9210 M8x60-A2

g




AISI304
AlSI316

A/0112-000
A14/0112-000

satin
AISI304

polish

<atin
AISI316

poliéh

33,7 A/0112-033
42 4 A/0112-042
48.3 A/0112-048
424 A/0112-042-B-L
" A/0112-042-L
42 4 A14/0112-042
48,3 A14/0112-048

42,4 A14/0112-042-L

AlSI304 .
satin

AISI316 -
polish

A/0112-042-A 75x50
A/0112-042-B 72x50

| A14/0112-042-A

A14/0112-042-A-L 75x50
A14/0112-042-B-L

EEET -stin  A/0116-042

580
XD6S5

=
I,
.y

165



EEEZ satin A/0115-000

B -atin A/0115042

B :atin  A/0117-0008

AISI304 i 'A/0117-042-B
AISI316 - A14/0117-042-B

166

!
!
!

R =
%

2|
IR 2
2 1
$ ! f/ 1
= I ps '/—_’/'
. ._.S‘._,f?,




satin  A/0145-000

m atn A/0145-042

A/0110-42-55-35 Ao/

satin

76,5

W satin  A/0110-42-55-35-LED €M/

167



ew

EEEZ] eatin  A/0708-42-55-35

satin  A/0708-42-55C M/

m

o
w
=4
ol
m
e
-
<
=~
<
v~
<

168



i /4110000 new

Alsizos B

n  A/4145-000 -

.

¥

40
- 0 |
64

—

T L 2x365

P
A,
5 g
sl )
2 1
25
80

24
i
i
S
S
o y
y & l |
N,
W & —
2 A?"E""f;24..
{ Tﬂ
14

L
j‘ -./. ,,///y}
;5

— y

169



170

AEELER catin A/4111-042

1337 A/0625-033
42,4 A/0625-042

40

60

(0]

65_

N
%)

A/0625...
/
/

/




|
_42,4x_

M saﬁn A/0718-200-B 42 4x2,0 14
. D |
33,7 A/O0717-233 33,7x2,0
. 42,4 A/0718-242
satin 42 4x2,0
48,3 A/0718-248
48,3 A/0719-248 48,3x2,0
polish 42,4 A/0718-242-L
42,4x2,0
. 424 A14/0718-242
satin
AlSi316 48,3 A14/0719-249 48,3x2,6
polish 424 A14/0718-242-L 42 4x2,0
i a
b |
satin A/0710-242
polish 424 A/0710-242-L 42 4x2.0 63
A14/0710-242
48,3 A14/0712-249  48,3x2.6 65

polish 424 A14/0710-242-L 42,4x2.0 63

—

80,5
675

171



172

AISI316

A/0711-842
A/0710-842
polish  A/0710-842-L
A14/0710-842
48,3 A14/0712-849 48,3x2,6
A14/0710-842-L

polish 424
A14/0711-842-L

.

satin
42,4x2,0

EEERT] =atin  A/0700-042

EEET] :atin  A/0716-000

EEET] =atin  A/0716-242

A/301...
A/303...
A/303...

A14/303...

A14/303...
A14/301... “IEW

“';‘.S 42,4)(2_~




| §242,4x2_|

EEET] =atin A/0713-000

42,4 A/0713-242 42 4x2.0
48,3 A/0713-248 48,3x2,0

" A/0727-233 5 33,7x2,0
satin
A/0727-242-C 9
. A/0727-042-L 9
polish 42.4x20 8,5
A/0727-042-B-L 8
. 42,4 A14/0727-242-C
AISI316 T 9
48,3 A14/0729-249 48,3x2,6

L042.4x2 _|

satin  A/0727-242-S 9
polish A/0727-042-S-L 7

173



EEET atin a/0714-042

EEEZ =atin A/0715-242
. a0y W/ - ¥~

7N I
H ’
!
N
T |
ol
~r| |
=) I/ 2
|24 v =
gl
o ¥
[ ! \",/ !
I ‘y
|
_ L 9424
. A/0720-242
satin
A14/0720-242 A i/
-,
27

m satin  A14/0721-242-L

174

-

-

D 42,4x2

42,4



=

EEEZ] =atin  A/0135-000

=

satin  A/0135-042

polish A/0135-042-L
PISERE satin A14/0135-042 O

63
e
2xXPé Ea '
Lo14 9| &
S| al
|| 8 s
80

EEE =atin A/0136-000

2P 5,5 *’ﬂi
L @14

satin | A/0136-042
polish A/0136-042-L

\\\\_7
\\
/\\
b
'01

oz

175



h24

Y
fhIs -

N
a\
N
T
-
-

82

1

42,4 A/0155-042
satin | 42,4 A14/0155-042 20
48,3 A14/0155-048

new
new

M satin A/0155-042-B 20

176



0-45°

1) 42,452

/
7
f
v

—

26
| @
o

\Oo

EEREY =atin | A/0722-242

[ 3x955

IASEDEY satin @ A/0708-000

| 42,4 A/0708-042-B
satin | 48,3 A/0708-048 o4/
42.4 A14/0708-042

177



‘ o " -
@ = gt

33,7x2,0 A/5735-233-R 8 33.7x2,0 A/5734-233 5
10 ; 42.4x2,0 A/5734-242 9
L O 300 42,4x3,0 A/5734-243 7 Mnew
48.3x2,0 A/5734-248 8.5

42 4x2,0 A/5735-242
AISI304 42 4x2,0 A/5735-242-R
satin  48,3x2,0 A/5735-248-R
48,3x2,0 A/5735-248-R1
42 4x2,0 A14/5735-242-R
48,3x2,6 A14/5735-249 8,

33,7x2,0 A/5736-233 2 EEEYY =atin A/5737-242
(RN L 42.4x20 A/5736242 e
48,3x2,0 A/5736-248 3 |dof
AISI316 42,4x2,0 A14/5736-242

AlISI316

h oo 0o o s

.28 _|

ant

30x30x2 A/4735-030-R EEEZ =atin  A/5739-242
40x40x2 A/4735-040-R 7 V

AISI304 s 40x40x3 A/4735-041-R new
50x50x2 A/4735-050-R
60x60x2 A/4735-060-R

AlSI316 40x40x2 A14/4735-040-R

DA24x2 _ o 0 42,4x2 g-L

I

| - T
f | QEIZ_; \ﬁ U —%@”]j

g

zatin | A/5738-242-12 m =atin A/5740-242-12 e/
178



flat A/0818-000
flat A/0818-000-B
satin  flat A/0818-000-C
42,4 A/0818-042
48,3 A/0818-048
flat A/0818-000-L
polish 424 A/0818-042-L
42,4 A/0818-042-B-L
IYEERCN satin 42,4 A14/0818-042-B

T

EEEZY -atin A/0810-942

|

A/0812-068
A/0812-068-S
A/0812-068-51
A/0812-068-M5-S
A/0812-075
A/0812-100
A14/0812-068-S1

EEE =atin  A/0814-115-M6

12
14

12

14

68

75
68
75
100
75

D1

10

M8

Mé

115

74

M6

179



IN\EIELER catin A/0816-075 Mnew

@12

I | o

A-DIN 7991-A2 Méx8

A/1800-0... A/1800-000 A/1890-042 A/1890-000

A/0813-075-12Z 75

|A/0813-100-12Z 100
|A/0813-120-12Z 120
A14/0813-100-12Z 100 ]

T /
DI __{ | A/0811... A/0812...
‘ | ' u
‘ A/5734-242 A/5735-242-R A/5736-242 A/5737-242
m M
A/0811-068 68 10
A/0811-068-51 14 75
A/0811-068-S2 68
_ A/0811-068-53 68
A/0811-075-12S 2 75 8
A/0811-120-12S 120
A14/0811-068-S1 75
o - RS
AISISAS A14/0811-068-52 % —38
Mé
R
h@;
2 Ly
Q 114
- M8

R st 4/4812040 EEEY sstn wiastios0
180



o

920
| Mé

M10

42

:33,7 A6/33-55-35-B 44,5 28

| 42,4 A6/425535B 55 32 Lo~

.‘ [oRA]
N

ew

$ 42,4

@

A/0708-42-55-35

@55

b

| A14/a255C il

181



T

33,7 A/1800-033

- 42,4 A/1800-042 Lo A-DIN 7991-A2 M6&x8
AISI304 - 42 4 A/1800-042-012 12 E%
48,3 A/1800-048 L o i
42,4 A/1800-042-L - U] o)
AISI316 42,4 A14/1800-042
48,3 A14/1800-048
AISI304 . A/1800-000
——————F]
. AISI316 - A14/1800-000
42,4 A/1890-042
AISI304
48,3 A/1890-048 21 A/301...
42,4 A14/1890-042
AlISI316
48,3 A14/1890-048 23 A/303...

PASEIEN  catin | A14/1870-042

182



.. A/1890-000
m satin - 1/1890-000-8

. flat A/1880-000
~satin 31,5x24 6,5 6,5 JEW
M - 424 A/1880-042

EEETY atin  A14/1870-000 T 1o14] i

33,7 A/1800-233 ———
LKLY 424 A/1800-242
" 48,3 A/1800-248
AISI316 42 4 A14/1800-242
63 25
3 ..1 ~| r ZS .
| — ]:;} [ I ](');'
%06 | | '_f
i
i 14
| AISI304 A/1800-200 5
satin  A14/1800-200
AISI316
A14/1800-200-B 5

183






A/0825-033 10

AlISI304 EETTY
- A/0830-033 12

~ A/0822-033 10 ~ A/0823-033 10
AISI304 BT AISI304 BEE1T
A/0832-033 12 A/0833-033 12

A/0S...
- N 7991-A2 M5x16

185



e )

186

D42,4/d

A/0825-042
e A/0830-042
A/0830-042-screw
A/0835-042
A/0825-042-L
polish A/0830-042-L
A/0835-042-L
satin  A14/0830-042
polish A14/0830-042-L

A/0826-042
A/0831-042
A/0831-042-L

A14/0831-042

A/0822-042
A/0832-042
A/0832-042-L

A14/0832-042

10
12

14
10
12
14

12

10

12

12

12

A/0823-042
satin
AlS1304 A/0833-042
polish A/0833-042-L

USSR satin @+ A14/0833-042

10

12

12

12




D42,4/d

A/0840-042
satin

A/0840-042-B
polish A/0840-042-L 16

A14/0840-042-L

A14/0840-042-L-B

[NEELEY satin @+ A/0841-042 16

(ASEEY satin  A/0842-042 16 ASk{eCE satin @ A/0841-042 16

187



|

7483

&2

b

. A/0830-048 10
satin
A/0840-048 12

& |

»483

M satin  A/0832-048 10 Mﬁ#ﬁ | A/0833-048 10
- N
88

1



189



A/0825-000
satin  A/0830-000
A/0835-000

polish  A/0830-000-L

PILER satin @ A14/0830-000

A/0826-000
AISI304 BT

A/0831-000

LSRR catin | A14/0831-000

A/0822-000
A/0832-000
polish A/0832-000-L

LIRS catin @ A14/0832-000

190

12
12
12

satin

polish
satin

A/0823-000
A/0833-000
A/0833-000-L
A14/0833-000

12
12
12



: A/0840-000
satin
A/0840-000-B 16

polish  A/0840-000-L

M satin  A/0841-000 16

P

@ satin  A/0842-000 16 M satin  A/0843-000 16

191



N

T 42,4 A/0855-042
flat A/0855-000
42,4 A/0856-042
| flat A/0856-000

satin  A/0832-012-0

A/0830-012 12

LY zatin | A/0830-014 14
' A/0830-016 16

12

14

JASETAY catin  A/083-PIN | e

192

\"

////f,
\‘-\y‘
\

®22
I

$12.3

@123

$12,3

: d10  A/0825-000
‘ di2 . A/0830-000
d14  A/0835-000
dié  A/0840-000
AISI 304 satin Ci

= = e &5

A/0823-000 [ A/0822-000 | A/0825-000

A/0830-000
A/0833-000 | A/0832-000 A/083-PIN A/0835-000

A/0843-000 A/0842-000 A/083-PIN A/0840-000
also i for AISI 304 polish and AISI 316 satin.




o

s\

®22
®123
/
=S

| flat A/0851-000

in 33,7 A/0851-033

42,4 A/0851-042

L w
Ne)
/ S
™)
q B
LS I n
LT
l
42,4 A/0850-042 32
satin 42,4 A/0850-042-B 35
 fat A/0850-000 32 Tg“/.g,g,'n
d 6-12
|
22077 N
) N
8 AN
i il
19
| A/0746-012 12
| A/0746-016 16
L
3 Tl 22
M8x30 ]
N Al f - o)
337 A/0502-033 30
i 33,7
satin 42,4 A/0502-042 o
42,4 A/0522-042 424 Hew

193



4 .6 connecTors




FIX

satin

polish

satin

polish

33.7x2,0 A/0305-233

42 4x2,0 A/0305-242
48,3x 2,0 A/0305-248

42 4x2,0 A/0305-242-L
48,3x 2,0 A/0305-248-L
42 4x2.0 A14/0305-242
42 4x2,0 A14/0305-242-B
42 4x2,0 A14/0305-242-L
48,3x 2,0 A14/0305-248-L

satin

polish

satin

polish

33,7x2,0 A/0303-233
42,4x2,0 A/0303-242

42 4x2.0 A/0303-242-B
48,3x2,0 A/0303-248
42,4x2,0 A/0303-242-L
42,4x2,0 A14/0303-242
48,3x2,6 A14/0303-249
42,4x2,0 A14/0303-242-L

satin

polish

AISI316 EEET

1 33,7x2,0 A/0301-233
33,7x2,0 A/0301-233-S
42.4x2.0 A/0301-242
42,4x2,0 A/0301-242-B
48,3x2,0 A/0301-248
42,4x2,0 A/0301-242-L
42,4x2.0 A14/0301-242
42,4x2,0 A14/0301-242-S
48,3x2,6 A14/0301-249

36
30
35
30
35
45
30
30
35

25
30
31

30

35
30

25
20
30
31
35

30

44
35

A/1890-...

195



196

FIX

satin

EDEY polish

AISI316 BRI

AISI316

polish

AISI316 EET

33.7x2,0 A/1305-233
42,4x2.0 A/1305-242
48,3x2.0 A/1305-248
42,4x2.0 A/1305-242-L
33.7x2.0 A/1305-233-N
42 4x2.0 A/1305-242-N
48,3x2,0 A/1305-248-N
42 4x2.0 A14/1305-242

33,7x2,0 A/0300-233

42 4x2,0 A/0300-242

42 4x2,0 A/0300-242-B
48,3x2,0 A/0300-248

42 4x2,0 A14/0300-242-B
48,3x2,0 A14/0300-248

48,3x2,6 A14/0300-249

33,7x2,0 A/0307-233

42 ,4x2,0 A/0307-242-S
48,3x20 A/0307-248
42,4x2,0 A/0307-242-L
42,4x2.0 A14/0307-242-S
48,3x2,0 A14/0307-248
48,3x2,6 A14/0307-249

38
48
57
48
38
48
57
48

25
40
30

30
35
30

25
30
35

30

35

55
69
81
69
55
69
81
69

§8d

S —



FIX

. 337x2,0 A/0308-233 24
satin
42,4x2.0 A/0308-242 30

33.7x2,0 A/0304-233 25
satin  42.4x2,0 A/0304-242 31

48,3x2,0 A/0304-248 35 sew
polich 424x2,0 A/0304-242-L 29

42,4x2,0 A14/0304-242 31

CIEERY satin @ 48.3x2,0 A14/0304-248

35 | Mnew
48.3x2,6 A14/0304-249
i
i
> 1
1 ‘
!
. 33.7x2,0 A/0309-233 24
n
42 4x2,0 A/0309-242 30

197



198

FIX

natural

42 WB/D42-45°
50 WB/DS50-45°

42 WD/D42-45°

Qo
<
J

natural 42

AISI304 SREET

in  A20/0790-042-R

WB/D42-D55-klb
WD/D42-D55-kIb

"?4.?}.,...’

l |lgs2|

42 WB/D42-90°
45 WB/D45-90°
WB/D50-90°
42 WD/D42-90°
50 WD/D50-90°

natural S0

PVC

A20/0729-042-S

e

A20/0790-042-R A20/0729-042-S

/

A-PH 5x35

A20/0000-042

-WB/D42-L...
WD/D42-L...

)

4

A20/0000-042

A

............. A/0305-242

A20/0790-042R
A/0302-242
A-PH 5x35 &
T wB/D42-L...
WD/D42-L...

),
)

)




42,4x2,0 A/0302-242-L
42,4x2,0 A/0302-242-B-L 27
42 4x2.0 A14/0302-242
48,3x2.6 A14/0302-249 30
42 4x2 0 A14/0302-242-L 27

satin  A/0312-242-B

AISI304

polish A/0312-242-L

CISEIEE  satin | A14/0312-242

33,7x2,0 A/0302-033 38
42,4x2,0 A/0302-042 44

33,7x2,0 A/0302-233 22
42 4x2,0 A/0302-242 27 |4
48,3x2,0 A/0302-248 29 | Pmew

@O

| @42.42 |

199




m satin | A7/42-55-A

m ~satin  A7/42-55-B

2|

_/WB/D42-L...
" WD/D42-L..

A20/0790-042-R" g

A-PH 5x35"

. A7/42-55-...

200

35 |

\J‘ 2




=

polish

AISI316 S
polish

AISI304 .
=atin
AlSI316

[ sisos

24 36 |

10 A/0302-010 14
. 12 A/0302-012

14 A/0302-014

. 12 A/0302-012-L z16
12 A14/0302-012

12 A14/0302-012-L

P ‘ =
- [
s 4+—-—p ——+ o
| | |
I i i
L I £ I le 30 | 1
10 A/0302-010-S 12
12 A/0302-012-S el
14
12 A14/0302-012-S
w10
|y
~
o)

A/0313-012

12 A/0302-012-C ew

= 7
b= ’

25 36 |

satin

A/0302-012-B

EEED =atin /0302016

201



! ‘ !
o = '/' 4 “o
i T |

10 A/0012-010 80 12

satin | 12 A/0012-012 102
14

12 A/0012-012-B 70

) 12x1,5 A/0013-012
satin
m 14x1,5 A/0013-014

FIX

10 A/0220-210
12 A/0220-225

25

: 12x1,5 A/0305-012 9
satin
16x1,5 A/0305-016 1

202



FIX

; iffa)
] 'y
T 40 B
5- — - -
o 12x1 A/0041-011 Mnew i 8 A/0040-008 12 3x30°
Satin e A/0041-012-B 10 A/0040-010 12 1x45°
] X1, °
AISI316 A14/0041-012 catin 12 A/0040-012 14 1x45
12 A/0040-012-B 14 3x30°
14 A/0040-014 16 1x45°
16 A/0040-016 18 1x45°
! i

ap—— ! R — = 1

33,7x2,0 A/0790-233 5 satin 33,7x2 A/0791-033
o2 42 4x1,5 A/0790-241 4 MW 42,4x2 A/0791-042
n
AISI304 42, 4x2,0 A/0790-242
48,3x2,0 A/0790-248 6
polish 42 4x2.0 A/0790-242-L S5
. 42 4x2 6 A14/0790-242 4
satin
AISI316 48,3x2,0 A14/0790-249 5
polish 42 4x2.0 A14/0790-242-L 4
11
-
& g
=
L |
L 4
o |10

m satin  A7/42-11-A m satin  A7/42-11

203



4- 7 EXES




AISI304

polish

AlISI316
polish

polish

AlSI316 =
polish

33,7x2,0 A/5729-233
33,7x2,0 A/5729-233-B
42,4x2.0 A/5729-242
42,4x20 A/5729-242-B
48,3x2,0 A/5729-248

42 4x2 0 A/5729-242-L
42 4x2.0 A14/5729-242
48,3x2.6 A14/5729-249
42 4x20 A14/5729-242-L

33,7x2,0 A/5732-233
42,4x2.0 A/5732-242
148,3x2.0 A/5732-248
48,3x2,0 A/5732-248-B
42,4x2.0 A/5732-242-L
42,4x2.0 A14/5732-242
42.4x2,0 A14/5732-242-L

33,7x2,0 A/5730-233
42,4x2,0 A/5730-242
48,3x2,0 A/5730-248
48,3x2,6 A/5730-249
42,4x2,0 A/5730-242-L
42,4x2,0 A14/5730-242

1 12x1,0-15  A14/0014-012
16x1,0-2,0 A14/0014-016
42,4x2,0-2.6 A14/0014-042

6
S
6
8
8

T

45

3,5
7,5

33,7x2,0 A/5728-233
42 4x20 A/S5728-242
42,4x2.0 A/5728-242-A
42 4x20 A/5728-242-B
42,4x2.0 A/5728-242-C
42 4x3,0 A/5728-243

33,7x2,0 A/5731-233
42 4x2,0 A/5731-242
42,4x2,0 A/5731-242-A
42 4x2,0 A14/5731-242

AISI304

AISI316

EEERD] =atin | 42.4x2,0 A/5733-242

.. P A/0736-242
M satin 42.42.0 4 14/0736-242

DN O OO

W N ww

21

205



206

F

AlSI316

55

Quality Finish > art

42 WB/D42-86°
Beech
50 WwWB/D50-86°

natural

| 33,7x2,0 A/0739-233 57
| 42,4x2,0 A/0739-242-S

polish 42,4x2,0 A/0739-242-L &8 &
i 33,7x2,0 A14/0739-233 55 57
satin  42,4x2.0 A14/0739-242 66 66
48,3x2,6 A14/0739-249 75 77

97 90

99 95

42  WD/D42-86° 97 90

50 WD/D50-86° 99 95

F

EEEZY =atin A/0739-242-R

=R =atin A/0737-242

P 42.4x2

i 42.4x2

faa W XETNE L]




33,7 A9/33

AISI304 42,4 A9/42
: 48,3 A9/48

AISI316 42,4 A14/9-42

42 WA/D42-G2
50 WA/DS0-G2

15 WOOD/D15x40
20 WOOD/D20x100

natural

47
55
65
55

21
25

38
44
52
44

27
30
38
30

natural

anrt

WB/D42-G55

WD/D42-G55

42
50
42
50

natural

Finish

‘WB/D42-G2
WB/D50-G2

WD/D42-G2
WD/D50-G2

WooD/m8-D
WOOD/M10-D
WOOD/M12-D

—

20
22
20
22

M

10
12

207



33 A/1732-033 . ‘ B 33 A/1733-033 6
40 A/1732-040 [ PASIEGES  satink 42 A/1733-042 7
y ) 48 A/1733-048 8

42 A/1732-042
48 A/1732-048
50 A/1732-050
60 A/1732-060
80 A/1732-080
A/1732-100 _ nen
A/1732-100x6 new
120 A/1732-120x6 new
42 A/1732-042-L
polish 48 A/1732-048-L
50 A/1732-050-L
raw 42 A/1732-042N

)

n N 4l

33 A/1732-033-12 125 e INGELFY satin  A/1734-040
satin 40 A/1732-040-12 12,5 | ew

50 A/1732-050-10 10.5

35
l———
o
bl |
= g
Quality Finish art AZO/CEZEDVER
JEERY =atin  A20/0729-042-R
60
) '12 o
(3] ” L 8 @O
-~
s 8 ©
ALUMINIUM raw 42,4 A20/0000-042 60 50

208



12x1,5 A10/0010-012
16x1,5 A10/0010-016

d
Finis art H a
10 A10/0015-010 15
—fin 12 A10/0015-012-A 15 5 AISI304
== 14 A10/0015-014 16
16 A10/0015-016 18 21 6
12 A10/0015-012-L 14 .= s
polish 14 A10/0015-014-L 16
16 A10/0015-016-L 18 21 6
12 A14/0015-012-A 15 15 5
INGESCN =atin @ 14 A14/0015-014 16
16 A14/0015-016 18 21 6
PVC gray 42,4x2,0 A9/42-PV 5 PV
PVC gray  40x40 A9/40x40-PVC 5 e PVC

2 AlISI316 JE=1

d

Finis d art. L

5 10 A10/0017-010

satin 5 A10/0017-012 w22 2
" 12x1,5 A10/12-PVC 4

9 46x15 A10/16-PVC 5
%'ite

D
gray  12x12  A9/12x12-PVC 4 Mhew

D!
12x1,0-1,5 A14/0014-012 3
16x1,0-2,0 A14/0014-016 3.5
| 42,4x2,0-2,6 A14/0014-042 7,5

209



- L -—
H
S
A / / /
- b
- / sezashbzld D
\ . \ / 1 \ -
: P\ @7 AILIT
10 A/0221-010 20 19 7 12 A/0224-2012 20 15,5
10 A/0221-2510 25 23 10 oo 12 A/0224-2512 25 22
12 A/0221-012 20 18 5 12 A/0224-3012 30 27
i 12 A/0221-2512 25 24 12 14 A/0224-3014 30 26
12 A/0221-3012 30 28 8
14 A/0221-2514 25 22 8
14 A/0221-014 20 17 6
16 A/0221-016 25 22 9
12 A/0221-012-L 20 18 6
polish 14 A/0221-014-L 20 17 6
16 A/0221-016-L 25 22 9
satin 12 A14/0221-012 20 18 6
AISI316
polish 12 A14/0221-012-L 20 118 6

15 A/0220-015 40 A/0220-040-R 8
20 A/0220-020 6 50 A/0220-050-R 8
et 25 A/0220-025 50 A/0220-050-R-B 10
30 A/0220-030 60 A/0220-060 8
40 A/0220-040 8 A% 70 A/0220-070 8
50 A/0220-050 new satin 80 A/0220-080 12
80 A/0220-080-R 10

100 A/0220-100 10

120 A/0220-120 10

150 A/0220-150 10

200 A/0220-200 12

Holi=h 50 A/0220-050-R-L 8

80 A/0220-080-R-L 10

210




L
H
7 7
- -----]-d |p wtt prm e d D
// 57
Quality Finish d art D L H Quality Finish d art. D L
| Brass  polish 12 B/0221-2512 25 23 7 | Brass | polish 12 B/0224-2512 25 22
-~ L
oH
//'
. d D
“

Quality Finish d art. D L H
, 8 WB/D20-d8 19
Beech 20

9
12 WB/D20-d12 18 8
natural
8 WD/D20-d8 00 19 9
12 WD/D20-d12 18 8

211






AISI316

33,7

42 4
=atin

48.3

50,0

polish 42 4

424
=atin

48,3

50,0
polish 42 .4

satin  A6/018-042

z D
103 17 A/0512-033
73 11 A/0515-042-B
83 10 A/0516-042
88 12 A6/90x42x13-S
88 14 A6/90x42x13-B
103 17 A/0512-042
103 21 A6/105x42x25
123 24 A/0513-042
103 17 A/0512-048
103 22 A6/105x48x25
103 17 A/0512-050
73 11 A/0515-042-L
88 12 A6/90x42x13-L
103 15 A/0512-042-B-L
103 17 A/0512-042-L
103 17 A14/0512-042
103 22 A14/105x42x25
103 17 A14/0512-048
103 23 A14/105x48x25
123 16 A14/0513-048
103 17 A14/0512-050
103 17 A14/0512-042-L
426 _
|

L. L34 =

Mew

new

polich A6/018-042-L

AISI304

polish
AlISI316 satin

42

12

14
12
12

103

43
58

436
43
43

12
17

1
17

12
1
1"
13.5
1"
12
12

A14/0517-012
A14/0517-042

AE/90x00x13-S
A/0512-000

A/0514-012-B
A6/60x12x12
A/0515-012
A/0515-012-B
A/0514-014
A/0514-012-L
A14/0514-012

213



Quality Finish art.

AISI304 m  A/0942-242
s A =
L) A14/0942:242 e

Quality Finish art H
o A/0941-242x55 55
satin
A/0941-242x120 120
(=)

; art D d D1
33,7 A/0940-033-N - 70
42,4 A/0940-042-N 1o~

42,4 A/0940-042-N-B 100 9
/ 75 W
48,3 A/0940-048-N-B
42,4 A14/0940-042-N 11
48,3 A14/0944-048-N 120 30

E 3

Quality Finish art

214

N
o

1
!

1




RUBBER

"-2
3 9
L j =
&
=
85| |
Quality Finish art.
ECEECTARR 14/ 0945042
A
Quality Finish art. D d D1 t
A/0948-042 100 11 75 6
A/1951-85x42x4-N 85 9 68 4 p=
A/1951-100x42x4-N 100 11 72 4 =1
&
2@
—_— +
Quality Finish art D D1 D1 $ ol
A/1950-100 £
100 72
. A/1950-100-B
A/1950-120 120 87 MW

Quality Finish art. D d D1

1952-85x42x4-N 85 9x20 68
AlSI3 N new

A/1952-100x42x4-N 100 11x25 72  gq oqt/

215



3xd

art D d D1 t

| A6/85x42x6-S 85 85 65 6
A6/100x42x6-B 100 11 70 &
A6/100x42x6-S 100 11 73 6

tin  A6/120x42x6-S 120 11 80 6

| A6/85x42xd-N 85 9 68 4
A6/100x42x4-N 100 11 72 4

AlSI316 'A14/100x42x6-S 100 11 71 6

t

Quality Finish art. D d D1 ¢
A/0946-85x4-N 85 9x20 68 4
g AISI304 A/0946-100xaN 72 4
A/0946-042-N 77 &

é
Quality Finish ) art
AISI304 1 A6/85x00x6-S
4xd

Quality Finish art. D D1

e A/1954-85x42x4-N 85 68
A/1954-100x42x4-N 100 11 72

© o

216



Quality Finish D axb D1 t
85 9x15 68 4
i N 100 11x20 75 6 VW

K055

©14,2

art.

Quality
AISI304

Finish

- A/O112-LED-PLATE

217



Da2.42

- -
g 7
171 7
g v
v v
4 v
A v 7

o

125 max.

—
N
I'UU

EEEZ] -atin A/0501-042

-y MI12
g
| P Pe0 |

Quality Finish art
EEEZ] atin A/0731-060
218



o h42,4x2

275

30

| .
Qualhity

42 4x2 A/0506-242

&

H2

=
C@ \

-

| Quality Finish / art. i z d
33.7x2 A/0945-233 71 30 21 65
) 42 4x2 A/0945-242-B
satin 81 35 27 85
42 4x2 A14/0945-242-B
AlISI316
42 4x2 A14/0945-242-C 80 38 27 9 (=]

L h424x2 - e

| I | |
/
A
| Quality Fi h % art.
AISI304 RS A/0507-242
‘satin 42 4x2
AISiI316 A14/0507-242
N\
N\
AN
82 o
| Quality Finish % art

satin 42,4x2 A/0509-242

219



AlSI304 [T

satin

AISI304

polish
AlSI316 Y

Einich

AISI304

polish

AISI316

220

PUSELPY catin | 42,4 A/0503-042

art D
42,4 A/0504-242 50

48,3 A/0504-248 56
42,4 A/0504-242-L 50

42,4 A14/0504-242 S0

A/0505-033 85

33,7
A/0505-033-B wewy) 85
A/0505-042 95

42,4
A/0505-042-B 80
A/0505-048 100

48,3
A/0505-048-B 90

s A/0505-042-L 95

" A/0505-042-B-L 82
- A/0505-048-L 100
" A/0505-048-B-L 100
- A14/0505-042 82
' A14/0505-042-B 80

48,3 A14/0505-048 100

42,4 A14/0505-042-B-L 82

48,3 A14/0505-048-L 100

42 4x2 A/0315-242 Nl

30
30
30
25
30
25
30
25
35
25
30
25
28
25
28

5,5

6,5

6,5

6,5

5.5

6,5
5.5

§ i

27

i\
27

-—

25

Lo




Quality Finish art.
Fe 74, -8 A6/80x5-M16

Quality

Quality  Finish art.

 A/WT18242 il

97

136

P16
.
40x40x2_ 014 §
g 2
13
Il L vosxoe | | | 4oxa02
25
ks ol
ol o 1108
3 g L+ -] ;
> i { o
SR
75
100x100

| eos

205

1245

L

i

| Pa2.4x2

2P5,5

<

o]

<

L
WB-VR90-4D12.

A

A/W718-000
A/W718-242

j

WB-D42-post

221



222

in 42,4 A6/021-6-A
polish 42,4 A6/021-6-L
42,4 A14/021-6-A

Quality Finish %) art.

33,7 A6/021-033
=atin 42,4 A6/021-6-A/B
48,3 A6/021-048

Quality

Quality

AISI304

AISI316 §

Finish art.

_zatin  A6/021-6-A/C

Finish 7 art.

5 A6/024-0UT

A14/024-0UT

| wp
1o

@100

@100




Quality Finich art.
AlSI304 : A6/024-IN
4
A14/024-IN

ECONOMY variant

IE]

A14/021-6.0UT-11x20. A14/021-6-0UT-11x208 A14/021-6IN-11x20

1
|
! 8
; F s +4»
| 2
i

210

o33 F g 4 +40

A/1732-033-R25
Quality Finish art.
satin  A/1732:033-R25 A6/48 A6/021-6-A  A-DIN7991-A2M8x110  A-DIN 1587-A2 M8

Quality

Finish D art. d

y Tl il

33 A/1732-033-12
40 A/1732-040-12
S50 A/1732-050-10 10,5

12,5

A6/005-4W

‘G B

A/1732-033-12

A-DIN 7991-A2 M8x110 A-DIN 1587-A2 M8

223



224

AISI304

AlSI316

Finish

42,4 AB/2x42
42,4 AB/2x42-150
42,4 A14/2x42
48,3 A14/2x48-150

=satin  A6/42-130x60

satin 42,4 A6/004-6
polish 42,4 A6/004-6-L

120
150
120
150

@100

120




Quality Finish art
EEEY] =atin  As/42-120x50

mishn % an Lxhb s dxa D1

42,4 A6/42-180x70
satin 42,4 A6/42-180x70-B
42,4 A14/42-135x54 135x54 36 11x13 70

40
180x70 11x20 81,5
35

Quality  Finist

@ satin  A6/42-20-B

art B s b
33,7 A/3507-033 36 46
AISI304
42 4 A/3507-042 16 50
42 4 A14/3507-042 35 50
AISI316 1
48,3 A14/3507-048 55

225



226

Quality Finich art

A/012-45
AISI304

~ satin  A/012-120
AISI316 A14/012-45

Finish art.

Quality
@ atin  A14/021-6-plate

45
120
45

Finish

Quality art.
m zatin  A/012-95

SEICE  satink A14/012-02

hew

4

55
~
<
®
¢ LR g
A

satin  A/01207



227



4.9 Sisrem




®|Q
C140x2_|
. art H
 A/4718-000 81
satin A/47180008 805
- A14/4718-000 81
63 d}hﬂa'“
S %55 f §
J | 014 S 5
- 1 222
D40x2
65 25
m—— i
T [2x955
®
| B
i [
| 140x2,| '
art
A14/4710-000
ok
- ® s
~ o,
D55 Eﬁ
3
0140x2_|

Quality Finich art

SRR satin A14/4710-042

229



Quality Finish art.

[ A/4710-800

n  A/4710-800B
A A14/4710-800

Quality Finish art.

' A/4710-842
fin  A/4710-8008
A14/4710-842

Quality  Finish art
f tin  A/4111-000

Quality Finish art.

n A/4111-042

B okt

230

24

140x2

140x2

i
C
—»~3J~»--t
21 ‘
| 4
)/ miw
/
o
(o)
C
6.5
I/
o
Q
,-I_ =
o9
065
U
3
X
D 1
1.5
I 92




Quality Finish art

~ satin A/4110-000

zatin  A/4145000 mew gl

YEELTN =atin  A/4145-042 new M

EEEZN =atin | A/4111-0001ED  Freil/ M

B8

=y

R [ 2x®$é5

(03

oU@

S

o s
- = /]
o X
S5
e 80 =
24
i
L.:.a
w w
| ~
T
,:]
-
x:
U 4
80

231



EEET] satin  A/4811-040

|

EEEZ] =atin  A/4812-040

AiSI304

,.‘I_M.é
3 n
K)
o |0
1
M8

A14/4735-040-R

L O v

M8

A/4735-030-R 30x30x2
A/4735-040-R O~
A/4735-041-R 40x40x3 AW

A/4735-050-R S0x50x2

A/4735-060-R 60x60x2

40x40x2

* ,—L.L
T
0 L i
o
40x40 :
95
Quality Finish art. H
AISI304 A/4505-040 28 W
satin A14/4505-040 29
AlSI316
A14/4505-040-B 23

232

T 9

A-DIN 7991-A2 M6x8

+

e Y &

A/1800-0... A/1800-000 A/1890-042 A/1890-000

+
A/4811-040 A/4812-040

e

eSS e

A/4735-040 A/4732-040 A/1734-040

\/

47

Finish art

INEELPS  -atin  A/4504-040




140

4
[}
Finish art. H Quality Finish art
A/4732-030 30x30x2 ‘satin  A/1734-040
A/4732-040 40x40x2 1o A/1734-040N
A/4732-040-B 40x40x2 .
A/4732-041 40x40x3 new
A/4732-050 50x50x2
A/4732-060 60x60x2
AISI316 A14/4732-040 40x40x2 4
axb

s T

B _ Lo

art 3 axb

V f Q ty h
.A10/4023-0‘|2 10x10 14x14 W A/4732-012

al2
et =" A10/4023-12x12 12x12 16x16

4 |
o

art 7 axhb H O{R '->C|)

A/4810-000 10x10
20x16

A/4810-000-C 12x10 20 Mnew
A/4830-000 12x12 23x16
A/4830-000-B 12x12 31x22 22 Mew
A/4821-000 15x5
A/4822-000 15x5 25x25 25 left
A/4823-000 15x5 right

233



234

AISI316

Quality
AlISI304
AISI316

]
o |

A/4010-012

| A14/4301-040

A/4307-040
A14/4307-040

30

014

019

2

75

016

012

71

25

25

[0 40x2

[140x2

[140x2

1 40x2

C140x2




Quality  Finish art.

AISI304 | AW

25

[0 40x2

art.

A/4302-040
A14/4302-040

<
== —e
(W]
[ 40x2
50
!
i
w
~N
A —
T
[140x2
Q
-
£

26

[140x2

[140x2

235



236

AISI304

Quality

Quality

AIsI304 B

Fi

- A/4511-9340

_ A/4511-9640
| A/4511-040

A14/4511-040

art.

- A/4513-9340

A/4942-040
A/4942-040-N

art.

| A/4941-040

93x93
96x96

108x108

o I— 4 —1
40 x 40
b
25
20
Lo
oa [TV
40x40
|

[ o0)

.
©
o

‘ —-Eﬂog—
_ 3 <3 q I
| o™ |
‘ E A

:
10
Z%{ .

40x40x2

4xB12




ya

100
40
©

N

A=
4
|9
3
=
4
a
| i
A\
7
Kol
o |
4
140
Quality Finish art axb c c
A/1981-088x40x4-N 88x88 65 il
A/1981-092x40x4-N 92x92 67
A/1981-100x40x4-N 100x100 70
o

-
@.
o}

92x92 72x72
100x100  80x80

237



238

Fe 741, A6/95x95x5-M16

A6/005-4
A14/005-4

AISI304
AlSi316 S

Quality  Finish art.

PAEELPY  satin - A6/40-120x50

ew

M1é

100




~ satin  A/3507-040

satin  A6/26x26-31

239



—_— =
- —— i)

3 2/ ) — -

T .
R o et -







5_1 CANOPIES

5. 9 spiDeRs

5 SLIDING
| DOORS

256



5.4 s’

272

5 SWING
» DOORS

9.6 Valls

284



5 _1 CANOPIES




>

1x LED zet

new
2x
800

1x

1.0

A
v

10.76

008

1x

RAL AL/PR1-S-EB-1400

1400

N
N
o

e
h )

ALUMINIUM antracit
AL/PR1-S-EB-1400

245

50

260

L

1405

4x260

30




AL/PR2-N-E-1750
ALUMINIUM .- | ELOX 17,52 1,5 v MW
AL/PR2-N-E-2500

—

AL/PR2-N-E-1750

AL/PR2-N-E-1750 1x 1x 1x 1x 6x 1m

17.52 - 21,52

136

)

" e, SRS
‘\“““““‘\‘\‘\“‘\\ \

17560/2500

8
-
Y
1750/2500
250 —_ . 250
1 |1
9. {2
| —— —_—
|| ||
V;V/ AJ/'V/
£ F4
2 g4l
|1 |1
|| ||

246 a a



(A

Qual F Effe 9 N) ‘:\’\):
AL/PR3-N-E-1500 new
16,76
GEIGIEIN ELOX 17.52 2,0 4 new

AL/PR3-N-E-3000

1x ox 1x 2x

7
/ 8 11,5
max 1000

16,76

-
\§\
v
X
R

1500/3000

<

1500/3000

200 200

19
b
©
o

247



248

[P

‘ ELOX x 21,52 1,5 v Mnew
CERTIFICATED: Glass TVG/VSG

o : q ‘ ' J =SS, (!

AL/PR4-N-E-3000 3m 3m 2x3m 7x 3m 12x

21,62

+2.7
B12 A @12
| £\ :
N2

0]

~ = = =
§ =) 9 min. 100
— /.
g &)
O i
£ 37

1000




150
e«'—’s N
i
=] A14/PR12...
g /
h
Qo
& V]|
oAb
L a g

Quality  Color art, a b h \
- GS/12,76-140x100-clear M
GS/12,76-140x100-blue
1400 1000  800-930  A14/PR12-1000-M12
VSG/ESG GS/12,76-140x100-milk
GS/12,76-140x100-yellow
- GS/12,76-180x120-clear 1800 1200 920-1080 A14/PR12-1250-M12

_150 1050 e 1050
a
=

y
3
o
Qo
8
| N

‘ Quality Color art a b h \

‘VSG/ESG -68/12,76-240x120dear 2400 1200 920-1080 A14/PR12-1250-M12

i
o
©)
zZ
<
o

Quality Color art.

VG - GS/10,76-140x90-TVG

249



STATIC STUDIO

800-930

1400 —
A
F\SES] satin GS14/PR-R3-M12-set/glass 2x 2x 2x 2x 1x 1o
GS14/PR-R3-M12-cet GS14/PR-R3-M12
~ GS14/PR-R3-M12-zet 2x 2x 2x 2x
NSRS satin
GS14/PR-R3-M12 x 1x 1x 1x

250



Quality Finish art

PNEES] catin  A14/PR-60-M12 ‘

Quality Finish art

CISER Y catin A14/PR-2x60-M12

S

M12 - LEFT

Quality Finich art
A14/PR12-1000-M12
A14/PR12-1250-M12
‘.A14/PR12-1500-M12

A14/PR12-2000-M12

100-310
w2 _
Mi0x£0 p2g
ol k]
L
30 — —-— — ‘:‘ 5 | o
|
. ' R4 i
T a—
L
1000
1250
1500
2000 e/

876-1752

M12 - RIGHT |

874-17.52

251



800-230

GS14/PR-R-set/glass 2x 2x 2x 2x 1x

GS14/PR-R-M12 1x 1x 1x 1x

252




A14/120-R

Quality Finish

AISI316 T

A14/120-R-B

art

A14/120-R
A14/120-R-B

Juality Finisk

h

FNISERG] satin | A14/120-70-R

:
ar

p!

Quality Finish

IWEEIEY catin  A14/70-R

A14/PR12-1000-M12
A14/PR12-1250-M12

n
A14/PR12-1500-M12

A14/PR12-2000-M12

1000

1250

1500

2000

425

12,76 -17.52

1

M12 - LEFT

100 ol
]
2
8 =
2
S8
] \
16
[ a |
=

M1Oxé0

30

— »~

|
|
—
| |
——

M12- RIGHT |

253






Quality Finish art.

W GS/ZP-101R-95

h @ D

66,5 14,5 30

Quality Finish art.

satin  GS/ZP-102R-90-95

satin  GS/ZP-102R-180-95

h @ D

66,5 14,5 30

h © D

66,5 14,5 30

Sl
ant

GS/ZP-104R-95

h @ D

66,5 14,5 30

D1

40

o

+
t

5

glazs t

6-16

glasst

6-16

glass t

gloss t
i 1
i I S
s 1
f I
h t

glass 1

255






Components

Quality Finish Effect art. glasst glass max. {kg) STOP ‘
ELOX GS/P8101-1-A-cet 8-10 90 _..’E
Glass preparation
: E . 375 ; E .
Q Q2
S
i
N
m
+
£z
3000
250 500 500 . 500 500 N 500

4
|
"

R

s = min. 725 - max. 1400

5-2x45

m.
o
8
(=}
0]
=
o
?

257



Components

| Quality Finish Effect art. glasst glass max. (kg) STOP |

UM - - ELOX  GS-AL/P8102/N/E-set  8-10 90 —’lJ

Glass preparation

100 100

105

,

35 £25

H+35-5 (10)
H+35-5 (10)

T
N
5 -10 mm

F

o
i
O
o)
a
o
Z
8
o |
@

5y
I

B "i’fé?i-_‘-i‘&‘f}:‘fﬁ?{‘il._!:'-:'5“.‘?.'“.'?5;;5:{‘:;;_'_?'.‘.'.'.'..’:‘S*‘.f:’t?:fi'p.} -

258



Components

105

55

H+55-5 (10)

................

s = max. 1000

S-2x45

259



Components

Quality Finish Effect glass ¢ glass ma

ELOX GS-AL/P8105/N/E-set 8-12 80

R
-
4/ »
E g
Big=-
art. GS-AL/P8105 GS-AL/LN8105/N/E GS-AL/LK8105/N/E
Quantity 1x 1x 1x

H+215-9

3000 - 6000

260



-
=

t
[ =
L]
c
o
Q
E
0

&)

Awmmm ELOX GS-AL/P8106/N/E-set 8-12

(o]
o
o
Q
«©
;
~
(oY)
x
x
A =
=
NZ
Ty
mw_
(0]
_
~
o~
x
S
\
&2
=)
m.u
P
(O]
e
o~
x
&
\
a s
Ni=
mnc
[0

¥

57

w
e
=z
S
©
o
o x
3
4
)
0]
w
=
=z
<
I~
¥
] S| %
el |Ex
\ N
kS
%)
(0]
v w
i >
o <
a ©
(1] o
] -
1] o | X
o
0]
w
2.
=z
N~
©
o
i o x
, W
o
0]
LeRe e b
i =
©
Y f/ e x
b= s
- ]
t |5
J
o]
&«
P>

3000 - 6000

261




Components

Quality Finish Effect art glasst glass max. (kg) STOP ‘

/| ELOX GS-AL/P8107/N/E-set 812 80 —

Accessories

LD —

Quantity 1x 1x 2x

40

Glass preparation

min. 80 > 126 .

F

2000

o
§...;
2
(4}
=)
=

262



Components

-

-t

- !
-

Effect art glass glass max. (kg)
i - ELOX GS-AL/P8108/N/E-set 8-12 80
Accessories
*Q LT — % \
Y
Quantity 1x 1x 2x 2x 2x 1x 2x2m
[To)
J[eN
~
[s)
~N
Glass preparation
min. 80 126
2000
S

263



264

AUTOMATIC

Remote control / Dialkove oviadanie
3 operating moods: closed, open, automatic

A 3 prevadzkoveé rezimy: zatvorené, otvoreng,
automaticke
gy MOVE-TS
[ Motion sensor / Detekcia pohybu
¢ In case of motion detection, automatic mode
- is activated
V pripade detekcie pohybu sa aktivuje
'MOVE-HS automaticky rezim
Proximity sensor
@« The door is open by hand movement
2 J Dvere sa otvoria pohybom ruky
MOVE-CS
o\\\ '
Open button / Tlagidlo otvorit
& The door is open by pressing the button
Dvere sa otvoria stlacenim tlacidla
MOVE-BT
GS-AL/ZP-46x50-N-E-MOVE - 800 Mew
- GS-AL/ZP-65x70-N-E-MOVE-1 90-230 EN v 800 MeW
ALUMINIUM ELOX 80 VAC 50-60 24/5 120 16005 75
- GS-AL/ZP-65x70-N-E-MOVE-2 Hz v 1000 HeW
GS-AL/ZP-65x70-N-E-MOVE-3 v 1300  AEeW
595 595
L
y y
A2} 7 (A _
L
/7 //
o
m| = wn
=) | ~
gl = r Tl g g
@ ////
iz 2
m m
P =
25 glass 8-12
- = 2
o &
© 7 @ 7 7
A
glass/panel-800 = 1711 mm glass/panel-800 = 797 mm
glass/panel-1000 = 2111 mm glass/panel-1000 = 996 mm
50 glass/panel-1300 = 2711 mm B glass/panel-1300 = 1295 mm




265






Components

STOP

glasst alass max. (kg)

ar

Finish

Quality

ﬁ
<
o
0
(7]
=

20

1

-12

8

GS-304/P9101/S-set

Glass preparation

143

2

163

o= SHOOUONIONS

2000

47

500

00

5

500

40

max. 1000
s-2x40

Co=;

267



Components

Quality  Finish art. glasst glass max. (k) STOP

AISI304 I GS-304/P9102/S-cet  8-12 120 —»g Mew

47

22,
t=

Glass preparation

S

113
®

50
163

50

H+50-5 (10)

SLIDING DOORS

s = max. 1000

$-2x40

268



-
-

Component

‘satin WS/P9101/S-set

JUII rFinisn

o
o]

30-40

47

0L-8€+H

2000

500

500

500

269



7))
i
[®}
)
a
&)
<
=)
=
7]

270

Components

Quality

Finish

art.

glasst

glass max. (ka)

STOP

GS-AL/P9201/N/E-set

8-10

90

_,l

Glass preparation

S

107.5

107.5




i »
.

INSELEY  satin - WS/P9100-1-i

GS/P8000
AlSI304 [EEETY
A/25x2-2000

35

112,5

2000 25 I GS/P9100A1A
! WS/P9100-14

271



SHOWER
CABINS




Ouali*y Fi;i:h art, glass t Vb_x h rm_qqnfirgl
GS304/P001/S 810 455 2V

Quality  Finish art. glass bxh mountinsj
GS-304/ZP-904/S 8-10  45x45 ;h;i/

GLASS t

Quality  Finish art. glazst bxh mounting

esaoa’_/zn-ooe/s 810 45x45 ‘-g;fs/

GLASS t

N

@0
=
2
O
o
:
¥ &
(70

GLASS CUT OUT "B"
\5

30+ GLASS t

273



76u:fi{y Finish art. glazibixh mounﬁ@
GS-304/ZP-907/S 810  45x45 ;"’;.;é

GLASS t

Quality Finish art. glass bxh mounting

GS-304/ZP-917/S 810 45x45 %‘r;/

%)
<
2
O
c
=
(®]
I
(98}

! Quality Finish art. glasst bixﬁh ,f,‘,‘,‘?‘!ﬂ?i[‘g,

wall/
810 45xs MoV

274

$58

8-10




Quality Finish = glasst bxh mounting

wall/
8-10 45x45 glass
Quality Finish art. 9'9?5,{7,'3 xh “,"‘?Eﬁﬁ{"ﬁ,

810 45xs 935S /

N
|

WITH GLASS CUT OUT "A+B" GLASS CUT OUT"A"

o2

0)
=
2
(©)
oc
5
T
7p)

20
GLASS CUT OUT "B*

810

| Quality  Finish art. glasst bxh mounting|

275



810

Quality Finish art. glass bxh mounting
wall/
45x45 glass

—
: 7
o - -

8-10
5 1

Quality Finish glass b xh mounting

wall/
8-10 45x45 glass

SHOWER CABINS

| Quality  Finish art. glasst bxh mounting Lo

glass/

8-10  45x45 Glss

' GS-ZN/ZP-917/P/Cr

276



Quality  Finish art. L | Quality  Finish art.
A/30x10x1,5-2000-L 2000 e/ m polish GS-304/ZP-220/P/Cr W

AISI304

A/30x10x1,5-6000-L 6000 e/

Quality  Finish art. | Quality Finich art.
polish GS-304/ZP-221/P/Cr AW polish GS-304/ZP-222/P/Cr MW

Quality Finish art. | Quality  Finish art. '
polish GS-304/ZP-223/P/Cr MW polish GS-304/ZP-224/P/Cr M/

31x10,6

[ Quality Finich art. " Quality Finich art.

polish GS-304/ZP-225/P/Cr V?Mv polish GS-304/ZP-226/P/Cr el

277



SWING
o DOORS




satin

GS-304/D-B-990-1/S-B

polish GS-304/D-B-990-1/P/Cr-B

satin  GS-304/D-B-990-5/S-B

polish GS-304/D-B-990-5/P/Cr-B

satin

GS-304/D-B-990-6/S-B

polish GS-304/D-B-990-6/P/Cr-B

6-10

6-10

6-10

e
o
8 3 3
| l‘.i ’ Sty
—
P8 e

45 +90°, 0° 950 +15°
55
o
| /;’| | I
A & 8 B
| |
_L+_I-’_1
| ll
37 ||
41
o
E E !_ﬂ
45 +90°, 0° 950 +15°
65, 22
4 r L8l qb>
==
I o |”g 3 B
L .
| | | |
55 9‘ GlLASS t 7 ||
4
:
%i_o
45 +90°, 0° 950 +15°

279




; f [ o]l
‘:,:8
l (f * “"
GLASS t

55 55 .87 ]

satin  GS-304/D-B-990-2/S-B
AISI304 6-10 45 £90°,0° 950  %15°
polish GS-304/D-B-990-2/P/Cr-B

— /$\b
|| 0] l 0] —;«l A1
[ B 2 £

0
~0
a
3
V)
satin GS-304/D-B-990-3/S-B
AISI304 6-10 45 +90°, 0° 950 +15°
polish GS-304/D-B-990-3/P/Cr-B
o
e 8 3
= |
i e
37
41
5 55 ‘Ql
—-’—r-—"

'a! ico

- 55
\@
GLASS t

satin  GS-304/D-B-990-4/S-B
AiIS1304 6-10 45 +90°,0° 950 +15° 6,5
O] e
polish GS-304/D-B-990-4/P/Cr-B

280



polish GS-MS/D-B-980-2/P/Cr-B

satin  GS-MS/D-B-980-1/S-B
~ polish GS-MS/D-B-980-1/P/Cr-B

satin  GS-MS/D-B-980-6/S-B
: polish GS-MS/D-B-980-6/P/Cr-B

6-10

6-10

6-10

‘.‘“ v ;
: .
6h 68
45 +90°, 0° 950 +20° +15°
50 65
36 _—A‘-._4_ g
- =
© “ " -
K’{; “ o 2
] O}
53’3@ |
i 1 v
o . %
45 +90°, 0° 950 +20° +15°
Hew
0 65
bt ~t
i I
@
N
= ‘f\’i ©® |5
|
vl i ]
o 18 [
92 3 /| 9 56
6
GLASS t
MW
45 +90°, 0° 950 +20° +15°

L

b

-

59

36

39

281



55

11

12

%,

6-10

3 o Gmax
Quality Finish art. (ks)/2pes
GS-MS/D-B-900-2L/P/Cr
polish 40
GS-MS/D-B-900-2R/P/Cr
€
£
hy
o 6-10
(@]
@]
=]
(0]
=
7 o 628
~ i Gmax
Quality Finish art. V(kg!’,:prcz
GS-MS/D-B-900-4L/P/Cr
polish 40
GS-MS/D-B-900-4R/P/Cr

282

GLASS CUT OUT FOR 135°
34

GLASS CUT OUT FOR 135°

27

GLASS CUT OUT FOR 180°




8-10

Quality Finish art.

32

Quality Finish art.

e
c
-‘\-\\.
~\:\;V w I.'I:'.
) :
. ( 750-1040
satin  GS-304/ZP-925-P/Cr v
810 ;’lz's'é 750-1050

polish GS-304/ZP-925-SN

283



- 9.6 Valls




PASELEY  satin @ GS-304/ZP-800/S-B

satin  GS-304/ZP-802/S-B

satin  GS-304/ZP-801/S-B

e

satin  GS-304/ZP-802/S

52

2,5

L 162 N

C
@

52

32-34

10-12

i;;

285



166

52
33
il
@
o
&
52

|
| Quality Finish art. D ’L AT Rl
) =
GSQO4/ZP—811/S 2-3 58-63
45
¢5

218

0-12
| Quality  Finish art.
cssouzrans
|
g
4
=
(93]
<
[
32-34
106
Quality Finish art.
10-12

GS-304/ZP-809/S

286



I Quality Finish art. 10-12
[ o cosoammanss o

. . . glass Gmax o |
‘ Quality  Finish art. R (ka) STOP %
GMMMM/M 10-12 100 +90°, 0° v Mew

GLASS WALLS

120

o
Quality Finish art. Gmax (kg) STOP %
J H 4

Mnew
+130°, 0°
150 new

287



43

61
. 32-34

52

Quality  Finish

[ s snumores

@203

10-12

158

113

29

Qu ality Finish

[ o csmmoss

GLASS WALLS

Quality Finish art.

GS-304/D-203/S ew

288

a2

82

100




INSELEN catin - GS-304/D-200/S new T [:_ ﬁ , |
N —
d = T od

8-12
> =i -
- £ 13
[+ | fis f
&I 8 ' |
- L
at
8 4] 2-57 S
| 22 ~

Finish art compatibilit

e : GS-304/D-200/S
INCELPS satin GS-304/D-L18S/S GS.304/D.207/S e

— o

=

n : §

LU I sn art !_< —— —_—r ‘ 4

SI3 i 4 ==
(\EELEY satin - GS-304/D-206/S %4 o o d .
p - &
/ |

65

satin  GS-304/D-L18R/S GS-304/D-206/S  “EW
289



VIEW A

.58
X, ¢|
40

Quality  Finish art. I;‘ e e T

o
GS-304/D-201/S e \ e

3 Vo e N
= L %
g Quality Finish art. A 14’_t5———-_! I_
< GS-304/D-207/S new o = 11 .r_-f- k . o
; - 1 .\\‘ ™~ // 4
o %, ,
75}
5
o

290



s |

-c
i

L ]

L

3
PRy G_ —— )
| Quality  Finish art. A B Cc a b s d H
45 120 10 30 65 50 5 15

A
Quality Finish art. A B Cc D a b H -—J

80 90 10 S0 31 66 15

-
]
Quality  Finish art. A° B €C a b = d H " ‘ g
f | s
50 120 10 30 65 50 S 15 -—— é
n.
<
G
-
ol
0 ]
a
_: o \10,
©18] 1=
Quality  Finish art. A B c a3 b s d H ; - . .
48 126 8 53 53 38 5,5 26,5 s H

291



292

Al

Al

S

S

1304

1304

satin

satin

satin

art C

GS-304/M1-25-300/S
GS-304/M1-25-400/S 25

GS-304/M1-25-500/S

GS-304/M3-20-300/S
GS-304/M3-20-400/S 20
GS-304/M3-20-500/S

ELOX GS-AL/M3-24-240/S/E

300

400

500

320

420

520

24x24

200

400

300

400

500

240

D
T
He

100

8-12




293



9.6 Valls




GS-.../N/B

GS-AL/ZP-32x46/N/B | - '“".h

B
GS-AL/ZP-32x100/N/B \

GS-304/ZP-32x46/S

GS-304/ZP-32x100/S _ | Mew

GS-AL/ZP-32x46/N/E 3m 1pes 3m 3m
GS-AL/ZP-32x100/N/E ALUMINIUM

+

GS-AL/ZP-Z02A-8/N/B
GS-AL/ZP-Z02A-10/N/B
GS-AL/ZP-Z02A-12/N/B
GS-AL/ZP-Z0O2AW-8/N/B
GS-AL/ZP-Z02AW-10/N/B
GS-AL/ZP-Z02AW-12/N/B
GS-304/ZP-Z02A-8/S
GS-304/ZP-Z02A-10/S
GS-304/ZP-Z02A-12/S
GS-304/ZP-Z02AW-8/S
GS-304/ZP-Z02AW-10/S
GS-304/ZP-Z02AW-12/S
GS-AL/ZP-Z02A-8/N/E
GS-AL/ZP-Z02A-10/N/E
GS-AL/ZP-Z02A-12/N/E
GS-AL/ZP-Z02AW-8/N/E
GS-AL/ZP-Z0O2AW-10/N/E
GS-AL/ZP-Z02AW-12/N/E

AISI304

GS-AL/ZP-A02/N/B
GS-AL/ZP-AO2W/N/B
GS/ZP-A02-i
GS-304/ZP-A02W/S
GS/ZP-A02-a
GS-AL/ZP-AO2W/N/E

3000

32x46

33x100

32x46

33x100
33x100
33x100

32x46

33x100

33x100
33x100

new

black WASELEE ALUMINIUM black AISI304

46

100

3m

295



27-31 .

21
26

10,2
22

Quality Finish Effect art. L G max glasst

INOX GS-304/ZP-30x38/S 3000 45kg/m 812 AW

Quality Finish Effect art. L G max glasst 1x3m 9x1pecs ‘ 2x3m

INOX GS-304/ZP-30x40/S 3000  30ka/m

SHOWER PROFILE

Quality Finish Effect art.

G max glasst

-

polish  INOX GS-304/ZP-30x40/P/Cr 3000 20kg/m  8-10

296



-

Quality

Quality

Finish Effect art. A B L glass

INOX GS-AL/ZP-2020/S/VA 20 20 3000 8,10

+

Finish Effect art. L glass t ‘

ELOX GS-AL/ZP-21x27/N/E 3000 812

2x3m

GS-PVC/ZP-2020GT-8/N/T
GS-PVC/ZP-2020GT-10/N/T

2x3m

GS-PVC/ZP-2127-8/N/T
GS-PVC/ZP-2127-10/N/T
GS-PVC/ZP-2127-12/N/T

GLASS WALLS

297



-

Quality Finish Effect art. E glasst ‘
| ELOX GS-AL/ZP-2018/N/E oW

] 3000 8-10 ‘
INOX GS-AL/ZP-2018/S/VA new

Quality Finish  Effect art. L glass
ELOX GS-AL/ZP-4018/N/E Hew
3000 8-10
INOX GS-AL/ZP-4018/S/VA Aew
g
L75)
z
s
195}
S
(&}

Quality Finish  Effect art. A B L glasst ‘

GS-AL/ZP-1510/P/Cr 15 10 6 ;

polish ELOX GS-AL/ZP-2012/P/Cr 20 12 3000 8

it

1
1
GS-AL/ZP-2014/P/Cr 20 14 10

298




299



5€

R

[ ,
N\ ,”y??.ﬂeagﬂaL Ca O

SIS

A Ty

7

77

35

iz

new

GS-AL/ZP-3535/N/E 3000 6-10

ELOX

m

Left/Right

22x6x100

2

' GS-PVC/ZP-35635-6/N/B = GS-PVC/ZP-3535-8/N/B = GS-PVC/ZP-3635-10/N/B 3000

300



A/6925-040

40

A/6900-020

28

GS-AL/ZP-20x30/S/VA

20

27

W

A19/5042-008

A19/5042-008

GS-PVC/ZP-2030-
8/N/B

new

GS-PVC/ZP-2030-
10/N/B

new

5000

2500

3000

1

301



9.6 waiis




ALUMINIUM

ELOX 8-10

GS-AL/ZG-L-N-E new
GS-AL/ZG-R-N-E Mnew

890 2 2
—-T—— —-—T-—
' S
(@]
N
N
35
45
65
5 60 g
e 3 S
o
NI A A 8&
(@]
n
o
| ‘
N
v, ; ] /
o
/ey
- 26 802 26
SECTION A-A ( 854)
DETAIL C
- 15 39
- \\\ 18
\ \".I 5
B ,,[ R ey e g IEL
3 Q \
- -C N
) * 5 o R
/ —
P 15,5 ™

GS-304/D-805/S-B

303



55

32

0

w

ELOX GS-AL/ZU-N-E

55

40

HIGIM J18VISVA|
S M .w.. et S o
I 74 )

GS-304/D-808/S

304



GS-AL/ZZ-6000-N-E Mew
ELOX
GS-AL/ZL-6000-N-E Mnew
860
™
o
&
+= G A
N 28
W 55
65 ¥
40 2
o : —
5 1 o R ,‘w S8
A A QIS
3
=
E] L
o
w
N
1 /
o
= 7
= 13 802 15
SECTION A-A (830)
DETAIL B DETAIL C

GS-304/D-200/S

|5 8 I
1

N,k

GS-304/D-808/S

305



306

ALUMINIUM  satin ELOX GS-AL/D-808/S

)

INOX GS-304/D-805/S-B
satin

ALUMINIUM ELOX GS-AL/D-805/S/E-B

L2l

56

28

8-10
10

10

810




307






=1




6] SEGMENT \ B B
a I sTARS ‘ |
_\\‘&;\ !




NS240-N1 140 138
NS240-N2 180 310
240 395 108 ¥
NS240 NS240 170 190 350
NS240-NV 170 190 350
NS270-N1 130 128
NS270-N2 170 290
270 395 @ 132 v
NS270 160 180 350 4
NS270
NS270-NV 160 180 350

Stair set NS240(t=40)

2]

Stair set NS270(t=40)

art. vmm) \eoa0 NS240 NS2a0  NS240 ait. vimm)  Ns270 Ns270 Ns270 NS27O
max.  min. N1 -N2 NV Alt.1 Alt.2 max.  min. -N1 -N2 -NV Alt. 1 Alt. 2

180 1x ‘ = ‘ z = > 170 1x - - = =

360 1x 1x = - = 340 1x 1x # = =

550 530 1x 1x 1x - - 520 = 500 1x 1x 1x = S

740 700 1x 1x 1x - 1% 700 = 680 1x 1x 1x = 1x

930 870 1x 1x 1% | ax | 2x 880 = 820 1x 1x 1x x| 2x

120 1040 1x | x| x| 2x 8 1060 | 980 | x| x| x| 2x | 3x

1310 1210 1x 1x 1x 3 | ax 1240 1140 1x 1x 1x 3x | 4x

1500 1380 1x 1x 1x %% | 5% 1420 1300 1x 1x 1x 4x | 5x

1690 1550 1x 1x 1x 6% | iBx 1600 1460 | 1x 1x 1x 5x | 6x

1880 1720 . 1x 1x 1x 6% | ‘7% 1780 1620 1x 1x 1x B6x | Tx

2070 1890  1x 1x 1 | x| Bx 1960 1780 1x 1x x  7x | 8x

2260 2060  1x 1x 1% | 8% | 9x 2140 | 1940 | 1x 1x 1x  8x | 9x
NS240/V245-223 2450 2230 1x = 1x  1x  9x | 10x 2320 | 2100 | 1x | 1x  1x | 9x | 10x
NS240/V264-240 2640 2400 1x  ix  ix  10x | 11x NS270/V250-226 2500 2260 1x  1x  ix  10x | 1ix
NS240/V283-257 2830 2570 1x 1x 1x x| 12x NS270/V268-242 2680 2420 1x 1x 1x x| 12x
NS240/V302-274 3020 2740 1x  1x  1x  12x | 13x NS270/V286-258 2860 2580 1x  1x  1x  12x | 13x
3210 | 2910 | 1x | 1x | ix | 13x  14x NS270/V304-274 3040 2740 1x  1x  1x  13x | 14x

assembly video

Yo umakov

virtual studio

e

1448 4

applications

simulation template

NS240-model

311






LA

A-DIN 913-A2 M8x22

A-DIN 914-A2 M5x5 5 5 A-DIN 913-A2 M8x80
raw raw
A-DIN 914-A2 M6x6 6 6 A-DIN 913-A2 M10x35
A-DIN 913-A2 M10x100
A-DIN 7991-A2 M5x10 10
A-DIN 7380-A2 M5x12
A-DIN 7991-A2 M5x16 5 16
AISI304 A-DIN 7380-A2 M6éx12
A-DIN 7991-A2 M5x20 20
raw  A-DIN 7380-A2 M8x20
A-DIN 7991-A2 M6x8 8
A4-DIN 7380 M5x12
A-DIN 7991-A2 M6x10 10 AlSI316
raw 6 A4-DIN 7380 M8x20
A-DIN 7991-A2 M6x16 16
A-DIN 7991-A2 M6x20 20
A-DIN 7991-A2 M8x110 8 110
A4-DIN 7991 M5x16 5 16
AlSI316
A4-DIN 7991 M8x20 8 20 e
A-DIN 7991-A2 M5x16-Fix 5 16 | W A-DIN 7380-A2 M5x12-Fix
raw
A-DIN 7991-A2 M6&x8-Fix 8 8 e raw  A-DIN 7380-A2 M6x12-Fix
A-DIN 7380-A2 M8x20-Fix
A2-DIN 912 M5x20 5 Mnew
raw 20
A2-DIN 912 M8x20 8

10

&]]

22
80
new

35
100
12
12
20
12
20

new
12

new
20 new

313



314

A-DIN 917 M8
raw

A-DIN 917 M10

A-DIN 1587-A2 M6

A-DIN 1587-A2 M8
raw  A-DIN 1587-A2 M10

A-DIN 1587-A2 M12

AlSI3i6 A4-DIN 1587 M10

WOOD/M8-D
WOOD/M10-D
WOOD/M12-D

A-DIN 6334V M8x25-A2
A-DIN 6334V M10x25-A2
DIN 6334V M6x30-Zn
DIN 6334V M8x30-Zn

DIN 6334V M10x30-Zn

10

10

10

10

13

12

10

12

12

15

18

22

18

25

30

i

AISI316

AlISI316

A-DIN 934 Mé

A-DIN 934 M8

raw A-DIN 934 M10

A-DIN 934 M12

A4-DIN 934 M10

A-DIN 562 M6

A-DIN 562 M8

A-DIN 562 M10

A4-DIN 562 M5

10

10

12

10

6.5

10

AISI304

AISI316

A-DIN 975 M6

A-DIN 975 M8

A-DIN 975 M10

A-DIN 975 M12

A-DIN 975 Mé-3M

A-DIN 975 M8-3M

raw  A-DIN 975 M10-3M

A-DIN 975 M12-3M

A4-DIN 975 M10

A4-DIN 975 M&-3M

A4-DIN 975 M8-3M

A4-DIN 975 M10-3M

A4-DIN 975 M12-3M

L L

10

12

10

12

10

10

12

1000

3000

1000

3000

SE

g8t i



A-FTT-M5 5 12 Q8/79 A-FTT-...
raw A-FTT-M6 6 15
A-FTT-M8 8 16,5
A2 53

=
i
e A-DIN 9210 M8x60-A2 8 60 20 37 MneW
i ™Y A-DIN 9210 M10x100-A2 10 100 30 57 HAew
AISI316 A4-DIN 9210 M8x60 8 60 20 37 MNMew
A-DIN 7505A 5x20 20 -
raw 5 A-PH 5x20 20
A-DIN 7505A 5x35 35 raw 5
A-PH 5x35 35
ADINI2TA2 NS 5 1 M raw  A-DIN 7337-A2 4,8x20 20 48
A-DIN 125-A2 M6 6 1.6
raw  A-DIN 125-A2 M8 8 16
A-DIN 125-A2 M10 10 2
A-DIN 125-A2 M12 12 2,5

315



1

. A
of 2 —}
b
o I
A19/27-M6 8
raw A19/27-M8 8
A19/27-M10 10

e e

A-Q5/06-10x120CE
Q5/06-10x95CE
Q5/06-8x100CE
Q5/06-12x103CE
Q5/06-12x118CE
Q5/06-10x120CE
Q5/06-12x128CE
Q5/06-16x123CE

Q5/06-16x138CE

i1
- Q5/08-TNTRO8-8x52

316

10

10

16

16

13

52

140

120

95

92

103

18

120

128

123

138

12

new
raw

gray

AS5/08-105x11xM8

Q5/08-FH12-50
Q5/08-FH12-50-B

A14/08-FH12-50

Q5/07-8 NYLON
Q5/07-10 NYLON

Q5/07-12 NYLON

8

10

12

105 11
125 12
254 40
36 50
48 60



A/1962-000 A/1962-042

_ A/1962-000 new
A/1962-042 Aew

A/1963-000 A/1963-042
A/1963-000 AMew
A/1963-042 new

L

317



Q5/03-300 300ml, hobby

Q5/01GF-300 Nordic -20°C
Q5/01GF-400 Nordic -20°C
Q5/01GF-300
Q5/01GF-400

Q8/77 adjustable

Q5/05TR-310 Silicone

318

Q5/03-400

Q5/01TK-300 Winter  -20°C
Q5/01TK-400 Winter  -20°C
Q5/01TK-300
Q5/01TK-400

Qs5/04

400ml, profi

M17, h215

Q9/03-0,2x9

Q9/03-3x12

A19/05-010
A19/05-030
A19/05-050
A19/05-100

02 9

50

12 16,56

1

10

30 fae
50



AL/glass-mont

' A19/model741-8

jos/es. 38

A19/04-PVC
PFC
polish |A19/04-PVOL

m Q10/Therm-M12 12-12

319



320

A-DRILL-MS
HSS-COS A-DRILL-M6&
A-DRILL-M8

| aisizos PYRLIELES

4.8
6.4

HSSE Q8/SCREW-M8 Q8/DRILL-6,5

Q8/SCREW-M5 Q8/DRILL-4

Q8/SCREW-M10 Q8/DRILL-8

M A/40580-PLASTIC

Q8/DRILL-4-HRC-SHORT

TC Q8/DRILL-6,5-HRC-SHORT

Q8/DRILL-9-HRC-SHORT

42,4 40 MW

Youl[l[} umakov

REGULAR technology

A-DRILL...

Q8/DRILL...
Q8/SCREW...

A/FDRILL-M3F
A/FDRILL-M4F
A/FDRILL-MSF
TC  A/FDRILL-M6F
A/FDRILL-M8F
A/FDRILL-M10F
A/FDRILL-M12F

TC

A/FDRILL-M3C
A/FDRILL-M4C
A/FDRILL-MSC
A/FDRILL-M&C
A/FDRILL-M8C
A/FDRILL-M10C
A/FDRILL-M12C

HSSE

A/FTAP-M3
A/FTAP-M4
A/FTAP-MS
A/FTAP-M6&
A/FTAP-M8
A/FTAP-M10
A/FTAP-M12




A/Glue-10g-C
A-DRILL-M5
Q1/RNO1-125x1

Rezny kotie

Cutting disc
] i ix
i Q1/L01-125-40
Q1/Go1

wiwrollkit.ou A/zpray-Ws
Q/INOX-INSTALL-SET v/

]\

{

a
A/Glue-10g-C 10 A/Glue-20g 20 A/Glue-50g-C W/glue-25ml wood
50
A/Glue-50g-D Mew

h‘.

' You{[lH) umakov

A/Cleaner-500mi 500

Reozny kotié
Cutting disc

e N OO
6o
8co

R®I

wwwrolikiteu

A/spray-WS 400 : Q1/RNO1-125x1 cutting disc Q1/L01-125-40 flap disc
Q1/L01-125-80 flap disc
Q1/L01-125-120 flap disc

Q1/B02-INOX 345 Pipe cutting Q1/B0O2-INOX-RK Q1/B02-INOX Q1/Go1 100 360

321



1

g
# ;
o ; op _mm ﬂ
e m ¢ MR
I i 2 BHELE il
A o T i
i I b S i
Jajya LWL 8| __ ._._.._u_“ il s
T | I 0 s
i il | il i

31

= E B S I | A4 - gl

2 3 i = = ==y |5

= © Yo ((——— M- c Sy L

i8 ii= = (=R

w? T ——
1] ne 5

: | Em n i AE
: [ Nt 1§ K
wwu B (4R 88 MI _\ wm B R BRI
i T 5 5t =~ Bl =
BDEENDEE K IENECEID
w BUERDEDERE BIEENEIERD
L BOEREIDEIE AL DEEREIERL
as BEEECCERLD ma o[ m[a[r[n] # il
@ “Muu.::.._ F] o e “ .nia.n a.a
O BLUERLEEERE = R |®E n|¥
O DOERCCCEAL 1 DEENCOEAD
m i & HE %M flal 8] a _uw
< i £ Mn |.,ml ile e Mn

322



KAT-INOX-2019/20 new KAT-GATES-2018/19 KAT-AUTOMATIONS-2018/19

PNL/ASM4-03-12 PNL/ASM5-02-16 PNL/ASM6E-09-16

PNL/ASM2-02-11 PNL/ASM3-02-11 PNL/G03-30x42

REK-CASE-INOX3 PNL/GLASS-AD-1-2017

201617

KAT-MIX-2019/20 Mew

PNL/ASM1-02-11

323



324

AISI304

AISI304 AISI316 | s§ 2205 i MINIUH

‘material

a

@

INOX
AISI316

|

INOX

(=]
AISI304
T nerezova
ocel

§.8. 2205
ALUMINIUM  hlinik

zliatina
Zn+Al

Zelezo
zinok
mosadz

PVC

finish/effect

dub
I skio
n 2
polish lesk
| surovy
nebriseny
black cierny
white biely
gray sivy
INOX nerez
eloxovany
potrebné .

nezmonto-

not assembled vane

rozmer

najpreda-

vanejsie

novinka
new | "o
novinka

A oo

§.6.22

e |

Upravy  przystosowanie

priblizng

l /v | « | |/ |

v v PaY x
stal rozsdamentes = stainless
nierdzewna acel steel
aluminium aluminium aluminium
stop cynku i Zn+Al
aluminium otvozet ZAMAC
zelazo vas iron
cynk cink zinc
miedz sargaréz brass
PVC PVC PVC
guma gumi rubber
buk bikk beech
dab tolgy oak
szklo iveg glass
sziif szalcsiszolt brushed
K320 K320 K320
tukor z
polerowany polirozott polished
surowy nyers raw
neszlifovany natar rough
czarny fekete black
biafy feher white
siwy szirke gray
nierdzewny  rozsdamentes inox
anodowany eloxalt elox
niezbedne sziikséges necessary
modositas modification
z ; nem not
nieziozone  seszerelt | assembled
przyblizone . ... . approximate
wymiary kozelité méretek Sisrsicn
bestseller legjobban best seller
eladott
nowos¢ ) new
2019 2019 2019
nowos¢ ) new
2020 2020 2020

AlISI304

=i

INOX - ] INOX Il
AISI316 | 552205 [ AISI304 | AISI316 | 55 2205 |
. Pas
e ]
S
A
- NaCl }
INOX | s INOX I
AISI316* | s5 2205 NS AISI304 | AISI316 | 55 2205 @ um"m"
v v Py < -/ Py PaY
INOX AISI 304
L l I . vhodny do prostredia bez chloru a oxidu sinéitého
INOX AISI 316
- vhodny do prostredia s vysokym obsahom chloru, oxidu siri¢itého,
vysokej vihkosti, do primorskych regionov
Edelstahl INOX INOX S.S. 2205- vhodny do prostredia s vysokym obsahom chléru, oxidu
siri¢itého,
vysokej vihkosti s pritomnestou soli na pobrezi a na volnom mori.
. . swez INOX AISI 304
Aluminium aluminium 7SS _ suitable for the environment without chlorine and sulphur dioxide load
"> INOX AISI 316
alliage - suitable for the environment with a high content of chlorine, sulphur dioxi-
Zpkcpucigise Zn+Al de load, high humidity, coastal regions
INOX S.8. 2205 ) ) ] o
Eisen fer - Suitable for environments with a high content of chlorine, sulfur dioxide,
high humidity with salt on the coast and on the high seas.
Zink zinc mmm NOX AISI 304
- przeznaczone dla srodowiska bez dwutlenku siarki oraz chloru
) ) INOX AISI 316
Messing laiton - przeznaczone dla $rodowiska o wysokiej zawartosci dwutlenku siarki oraz
chloru, wysokiej wilgotnos¢ oraz w regionach nadmorskie
PVC PVC INOX S.S. 2205
- Nadaje sie do Srodowisk o wysokiej zawartosci chloru, dwutlenku siarki,
F o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmorskich, lub w
Gummi gomme bezposrednim kontakcie z woda morska.
= NOX AISI 304
Buche hétre "= _ alkalmazhatt olyan kérnyezetben, ahol nincs kiér és kén-dioxid terhelés
INOX AISI 316
Eiche éne - alkalmazhat olyan kérnyezetben, ahol magas a kior-, vagy kén-dioxid
terhelés, magas a paratartalom, tengerparti régiokban
INOX S.S. 2205
Glas verre - Alkalmazhaté magas klor-, kén-dioxid-, sés nedvességtartalmu
kornyezetben, valamint tengerparton és a nyilt tengeren®.
gechg'z'ge“ er%szs: B INOX AISI 304
- geeignet in Umgebung ohne Chlor und Schwefeldioxid
: : INOX AISI 316
poliert poli - geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Kiistenregionen
toh biossa INOX S.S. 2205
- geeignet flir Umgebungen mit hohem Gehalt an Chlor, Schwefeldioxid
i — und hoher Luftfeuchtigkeit mit Salz an der Kiste und auf hoher See
UnOeScien | NORDIOSE g g Nox Al 304
- Convenable pour les environnements sans chlore et/ ou bioxyde de
schwarz noir soufre
INOX AISI 316
o bl - Convenable pour les environnements avec un contenu élevé de chlore et/
el ane ou de bioxyde de soufre, une grande humidité, régions maritimes
INOX S.S. 2205
grau gris - Convenable au milieu avec un contenu élevé du dioxyde de soufre, ainsi
qu‘au milieu humide contentant du sel, tel que le bord de mer ou la mer
ouverte.
Edelstahl inox
Eloxiert anodisé
. T A
Anpassungist ~ modification il H
notwendig nécessaire h : g
’ non C
unmontiert | assemblé f —
- EN 743305
dig Abmsd dimensions EN 734130
SUngen St approximatives
ungefahr h H
H|
Bestseller best-seller il S
100cm <12m
Neuheit nouveau 110cm <30m
2019 2019 120cm >30m
Neuheit nouveau \
2020 2020 S EEE—

© pravo na technické, tvarové a rozmerové zmeny vyhradené/ rights to technical, shape and dimensional changes reserved 06/19



| M A\ | Steel Management

LMA Steel management FZE - LLC
Free zone establishment FZE

A1-3038, Building Al, Al Hamra Industrial Zone A1-3038,
RAK, United Arab Emirates

E-Mail
sale@Imasteel.com

Web
www.Ilmasteel.com



	0_Obálka spolu
	0_Obálka spolu2
	1_1.pdf
	1_Al Lišta
	1_Al Lišta2
	1_Al Lišta3
	1_Al Lišta4
	1_Al Lišta5
	1_Al Lišta6
	1_Al Lišta7
	1_Al Lišta8
	1_Al Lišta9
	1_Al Lišta10
	1_Al Lišta11
	1_Al Lišta12
	1_Al Lišta13
	1_Al Lišta14
	1_Al Lišta15
	1_Al Lišta16
	1_Al Lišta17
	1_Al Lišta18
	1_Al Lišta19
	1_Al Lišta20
	1_Al Lišta21
	1_Al Lišta22
	1_Al Lišta23
	1_Al Lišta24
	1_Al Lišta25
	1_Al Lišta26
	1_Al Lišta27
	1_Al Lišta28
	1_Al Lišta29

	1_4-Madla.pdf
	1-4_Madlá, 1-5_Spojky2
	1-4_Madlá, 1-5_Spojky3
	1-4_Madlá, 1-5_Spojky4
	1-4_Madlá, 1-5_Spojky5
	1-4_Madlá, 1-5_Spojky6
	1-4_Madlá, 1-5_Spojky7
	1-4_Madlá, 1-5_Spojky8
	1-4_Madlá, 1-5_Spojky9
	1-4_Madlá, 1-5_Spojky10
	1-4_Madlá, 1-5_Spojky11
	1-4_Madlá, 1-5_Spojky12
	1-4_Madlá, 1-5_Spojky13
	1-4_Madlá, 1-5_Spojky14
	1-4_Madlá, 1-5_Spojky15
	1-4_Madlá, 1-5_Spojky16
	1-4_Madlá, 1-5_Spojky17
	1-4_Madlá, 1-5_Spojky18
	1-4_Madlá, 1-5_Spojky19

	2_Stlpiky.pdf
	02_Stĺpikové zábradlia2
	02_Stĺpikové zábradlia3
	02_Stĺpikové zábradlia4
	02_Stĺpikové zábradlia5
	02_Stĺpikové zábradlia6
	02_Stĺpikové zábradlia7
	02_Stĺpikové zábradlia8
	02_Stĺpikové zábradlia9
	02_Stĺpikové zábradlia10
	02_Stĺpikové zábradlia11
	02_Stĺpikové zábradlia12
	02_Stĺpikové zábradlia13
	02_Stĺpikové zábradlia14
	02_Stĺpikové zábradlia15
	02_Stĺpikové zábradlia16
	02_Stĺpikové zábradlia17
	02_Stĺpikové zábradlia18
	02_Stĺpikové zábradlia19
	02_Stĺpikové zábradlia20
	02_Stĺpikové zábradlia21
	02_Stĺpikové zábradlia22
	02_Stĺpikové zábradlia23
	02_Stĺpikové zábradlia24
	02_Stĺpikové zábradlia25
	02_Stĺpikové zábradlia26
	02_Stĺpikové zábradlia27
	02_Stĺpikové zábradlia28
	02_Stĺpikové zábradlia29
	02_Stĺpikové zábradlia30
	02_Stĺpikové zábradlia31
	02_Stĺpikové zábradlia32
	02_Stĺpikové zábradlia33
	02_Stĺpikové zábradlia34
	02_Stĺpikové zábradlia35

	4_1.pdf
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá2
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá3
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá4
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá5
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá6
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá7
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá8
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá9
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá10
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá11
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá12
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá13
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá14
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá15
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá16
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá17
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá18
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá19
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá20
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá21
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá22
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá23
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá24
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá25
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá26
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá27
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá28
	4_1_Lankový systém, 4_2_Madlá, 4_3_LED Madlá29

	4_4.pdf
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody2
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody3
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody4
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody5
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody6
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody7
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody8
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody9
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody10
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody11
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody12
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody13
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody14
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody15
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody16
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody17
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody18
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody19
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody20
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody21
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody22
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody23
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody24
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody25
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody26
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody27
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody28
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody29
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody30
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody31
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody32
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody33
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody34
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody35
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody36
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody37
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody38
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody39
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody40
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody41
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody42
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody43
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody44
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody45
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody46
	4_4_Držiaky madla, 4_5_Držiaky prútov, 4_6_Prechody47

	4_7.pdf
	4_72
	4_73
	4_74
	4_75
	4_76
	4_77
	4_78
	4_79
	4_710
	4_711
	4_712
	4_713
	4_714
	4_715
	4_716
	4_717
	4_718
	4_719
	4_720
	4_721
	4_722
	4_723
	4_724
	4_725
	4_726
	4_727
	4_728
	4_729
	4_730
	4_731
	4_732
	4_733
	4_734
	4_735
	4_736
	4_737

	5.pdf
	52
	53
	54
	55
	56
	57
	58
	59
	510
	511
	512
	513
	514
	515
	516
	517
	518
	519
	520
	521
	522
	523
	524
	525
	526
	527
	528
	529
	530
	531
	532
	533
	534
	535
	536
	537
	538
	539
	540
	541
	542
	543
	544
	545
	546
	547
	548
	549
	550
	551
	552
	553
	554
	555
	556
	557
	558
	559
	560
	561
	562
	563
	564
	565
	566
	567
	568
	569

	6.pdf
	62
	63
	64
	65
	66
	67
	68
	69
	610
	611
	612
	613
	614
	615
	616
	617
	618

	obalka2.pdf
	0_Obálka spolu3
	0_Obálka spolu4

	1_2.pdf
	1-2_Terče, 1_3_Spigoty2
	1-2_Terče, 1_3_Spigoty3
	1-2_Terče, 1_3_Spigoty4
	1-2_Terče, 1_3_Spigoty5
	1-2_Terče, 1_3_Spigoty6
	1-2_Terče, 1_3_Spigoty7
	1-2_Terče, 1_3_Spigoty8
	1-2_Terče, 1_3_Spigoty9
	1-2_Terče, 1_3_Spigoty10
	1-2_Terče, 1_3_Spigoty11
	1-2_Terče, 1_3_Spigoty12
	1-2_Terče, 1_3_Spigoty13
	1-2_Terče, 1_3_Spigoty14
	1-2_Terče, 1_3_Spigoty15
	1-2_Terče, 1_3_Spigoty16
	1-2_Terče, 1_3_Spigoty17

	3.pdf
	32
	33
	34
	35
	36
	37
	38
	39
	310
	311
	312
	313
	314
	315
	316
	317
	318
	319
	320
	321
	322
	323
	324
	325
	326
	327
	328
	329
	330
	331
	332
	333


